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< MEHA QI ZH >

<2014>
bl = 100.0 55.2 20.3 34.9 40.5 4.3 3.5 0.8

<2016>
sl = 100.0 56.5 20.5 36.0 39.5 4.1 3.3 0.8
T ME =) 100.0 56.3 20.5 35.8 39.6 4.1 3.3 0.8
SHE(SHR) 100.0 571 20.1 36.9 39.0 3.9 3.2 0.7
=1 Xt 100.0 58.3 221 36.1 37.9 3.8 3.0 0.7
o Xt 100.0 54.7 18.8 35.9 41.0 4.4 3.6 0.8
13 ~ 19Al 100.0 72.8 36.4 36.4 24.2 3.0 2.5 0.5
20 ~ 29A 100.0 65.2 29.6 35.6 31.1 3.7 3.1 0.6
30 ~ 39A 100.0 62.8 23.5 39.3 33.7 3.4 2.8 0.7
40 ~ 49Hl 100.0 53.9 16.9 37.0 42.0 4.1 3.2 0.8
50 ~ 59A 100.0 48.3 14.5 33.7 46.9 4.8 3.9 0.9
60 Al Of &f 100.0 47.9 13.4 34.5 47.5 4.6 3.8 0.9
65 Al Of & 100.0 49.3 14.2 35.0 46.3 4.4 3.6 0.8

< X2t 2AH >

<2014>
bl = 100.0 65.2 291 36.1 27.3 7.6 5.3 2.3

<2016>
sl = 100.0 65.0 29.1 35.9 27.8 7.2 4.9 2.3
T ME =) 100.0 64.7 29.5 35.3 28.0 7.3 4.9 2.4
SHE(SHSR) 100.0 66.1 27.5 38.6 27.0 6.9 5.0 1.9
=1 Xt 100.0 71.3 34.8 36.5 24.5 4.2 2.9 1.2
o Xt 100.0 58.5 23.3 35.2 31.2 10.4 6.9 3.4
13 ~ 29Al 100.0 80.3 52.0 28.3 15.5 4.2 3.0 1.2
30 ~ 39HA 100.0 751 38.6 36.6 19.6 5.2 3.6 1.6
40 ~ 49A 100.0 65.7 28.9 36.9 25.4 8.8 5.9 3.0
50 ~ 59A 100.0 60.8 26.3 34.5 31.2 8.0 5.0 3.0
60 Al Of &f 100.0 59.1 22.7 36.4 34.2 6.6 5.1 1.6
65 Ml Of &f 100.0 59.0 23.1 35.9 34.2 6.7 5.2 1.6
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<2014>
sl = 100.0 63.5 27.6 35.9 31.5 5.0 3.8 1.2

<2016>
bl = 100.0 63.9 27.8 36.0 31.2 4.9 3.8 1.1
T A(E = 100.0 63.9 27.9 36.0 311 5.0 3.9 1.1
sHE(SHE 100.0 63.8 27.3 36.5 31.5 4.6 3.7 0.9
= Xt 100.0 63.4 28.5 34.9 31.8 4.8 3.6 1.1
o Xt 100.0 64.4 271 37.3 30.5 5.1 4.0 1.1
13 ~ 19Al 100.0 74.5 39.0 35.5 21.8 3.7 2.7 1.0
20 ~ 29A 100.0 67.2 31.8 35.4 28.0 4.9 4.0 0.8
30 ~ 39A 100.0 65.6 28.7 36.9 29.1 5.2 4.1 1.1
40 ~ 49Hl 100.0 60.3 22.9 37.4 34.6 5.1 3.9 1.8
50 ~ 59A 100.0 55.3 20.8 34.5 39.7 5.0 3.8 1.3
60 Al Of &f 100.0 52.5 18.4 341 41.0 6.5 4.9 1.6
65 Al 0f & 100.0 52.2 20.2 32.0 41.9 5.9 4.3 1.6

< HHSA 22242 2AH >

<2014>
sl = 100.0 48.6 18.6 30.0 42.0 9.4 6.7 2.8

<2016>
bl = 100.0 52.4 20.0 32.4 39.1 8.5 6.0 2.5
T A(E = 100.0 52.4 19.9 32.5 39.2 8.4 6.0 2.4
sHE(SHE 100.0 52.1 20.5 31.5 38.9 9.1 5.7 3.4
= Xt 100.0 57.4 23.9 33.5 37.9 4.7 3.6 1.0
o Xt 100.0 46.7 15.6 31.1 40.4 12.9 8.6 4.2
13 ~ 29Al 100.0 64.5 36.9 27.6 27.8 7.7 6.6 1.2
30 ~ 39l 100.0 60.0 24.2 35.8 32.2 7.8 5.4 2.4
40 ~ 49A 100.0 51.5 18.2 33.3 39.5 8.9 6.2 2.7
50 ~ 59A 100.0 454 16.3 291 45.8 8.8 5.8 3.0
60 Al Of &f 100.0 40.5 13.4 27.0 50.4 9.1 7.7 1.4
65 Ml Of & 100.0 38.8 13.4 25.4 52.9 8.3 6.1 2.2
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<2014>
sl = [100.0 55.2 100.0 10.4 89.6 100.0 14.6 10.3 6.5 66.0 2.6
<2016>
Fal = [100.0 55.6 100.0 8.7 91.3 100.0 12.1 10.0 7.1 68.2 2.7
S AN(E 2)1]100.0 58.8 100.0 7.7 92.3 100.0 11.4 9.7 7.2 69.2 2.5
SHE(SHSR) [100.0 40.4 100.0 15.0 85.0 100.0 17.2 12.1 6.2 60.9 3.6
= A+ 1100.0 58.9 100.0 9.0 91.0 100.0 13.1 10.3 5.1 68.9 2.6
O A+ 1100.0 46.6 100.0 7.4 92.6 100.0 8.7 8.8 14.0 65.5 3.0
13 ~ 29M |100.0 97.6 100.0 4.6 95.4 100.0 5.9 9.9 9.5 74.0 0.7
30 ~ 39Al 100.0 95.5 100.0 6.8 93.2 100.0 7.3 6.7 7.0 78.2 0.9
40 ~ 49M |100.0 83.7 100.0 9.0 91.0 100.0 11.7 9.2 6.8 70.8 1.5
50 ~ B59Al 100.0 53.5 100.0 9.8 90.2 100.0 16.5 13.1 6.4 59.1 5.0
60 Al O & [100.0 11.5 100.0 16.2 83.8 100.0 26.1 15.7 7.6 39.7 10.8
65 Ml Ol & {100.0 5.8 100.0 16.7 83.3 100.0 29.9 20.1 6.8 31.0 12.2
= & 0l 3t [100.0 10.0 100.0 13.1 86.9 100.0 19.3 14.5 6.6 49.8 9.7
= Z |100.0 27.4 100.0 13.1 86.9 100.0 18.6 18.6 8.0 48.4 6.5
i Z [100.0 60.6 100.0 9.9 90.1 100.0 13.0 11.4 6.8 65.8 3.1
tH £ 0l & |100.0 78.5 100.0 7.0 93.0 100.0 10.4 7.8 7.2 73.0 1.6
&8 F 2 e 100.0 80.2 100.0 6.9 93.1 100.0 8.8 7.8 8.6 72.7 2.1
At £ 1100.0 82.2 100.0 8.0 92.0 100.0 10.7 7.2 7.3 73.4 1.4
AMblAeof (100.0 66.6 100.0 8.5 91.5 100.0 14.3 11.0 7.0 65.6 2.3
s O g 100.0 25.9 100.0 34.2 65.8 100.0 33.1 21.0 3.6 35.4 6.9
s ® (1000 57.7 100.0 9.2 90.8 100.0 12.9 1.1 5.5 67.6 2.8
o 287 A5
1002k 012 1100.0 24.0 100.0 8.4 91.6 100.0 10.8 12.1 8.7 63.6 4.8
100 ~ 2002+ 012 100.0 47.7 100.0 10.5 89.5 100.0 13.3 10.0 8.2 65.1 3.4
200 ~ 3002+ 012+ 100.0 63.5 100.0 10.2 89.8 100.0 12.1 1.1 6.6 67.8 2.4
300 ~ 4002+ 012+100.0 69.4 100.0 8.4 91.6 100.0 11.8 9.9 5.3 70.8 2.2
400 ~ 5002+ 012+ 100.0 70.9 100.0 6.6 93.4 100.0 10.7 8.7 7.0 7.7 1.9
500 ~ 6002+ 012+ 100.0 74.3 100.0 6.4 93.6 100.0 13.5 7.7 7.3 69.3 2.2
6002+2 0l4a  |100.0 74.3 100.0 7.6 92.4 100.0 12.4 9.2 7.9 67.9 2.6
F 1) B2 3 B AIO0IZIE ME A H2Y
2) JIEt &A" EZ5t

- B8 -



) ggEs | 0sEE | mEE | oo | % =

A opie | mea | A4 9 | PEAE | Axz gz
<2014>
= 2 100.0 10.1 9.1 26 27.7 50.2 0.3
<2016>

& 2 100.0 8.8 8.7 2.3 275 52.6 0.1

T AE = 100.0 8.4 8.6 2.3 27 1 53.4 0.1

SHE(SHE 100.0 11.3 9.7 1.7 30.7 46.5 0.1

o Xt 100.0 9.7 9.8 12 28.4 50.8 0.1

o Xt 100.0 5.8 5.2 5.8 24.6 58.5 0.1

13 ~ 294 100.0 2.0 15 18 10.3 84.3 -

30 ~ 39Al 100.0 5.1 4.5 1.5 15.6 73.2 0.1

40 ~ 494l 100.0 7.6 9.8 2.4 32.1 47.9 0.2

50 ~ B59Al 100.0 13.2 13.2 2.9 38.3 32.4 0.0

60 Al Of At 100.0 23.8 14.1 2.8 355 23.7 0.2

65 Ml O & 100.0 29.3 19.0 2.6 29.8 19.3 -

2 =0 o 100.0 18.3 14.8 2.2 316 32.7 0.4

= = 100.0 15.7 171 3.7 33.3 30.1 0.1

i = 100.0 9.3 8.9 25 30.1 49.1 0.1

f & 0] &k 100.0 7.2 7.5 1.9 24.7 58.6 0.1

2w 100.0 7.7 8.2 2.2 26.5 55.3 0.1

At £ 100.0 6.6 7.6 1.7 25.2 58.9 -

Kbl A B O 100.0 10.4 9.6 25 27.2 50.2 0.1

s O ¢ 100.0 22.0 15.4 2.1 36.2 24.0 0.2

Nswe 100.0 9.5 9.3 2.2 30.6 48.3 0.2

ot 0| D13 100.0 9.8 9.7 2.2 29.8 48.5 0.1

NERTTIpIE 100.0 9.2 8.9 17 28.4 51.7 0.1

e BB AS

1002+ O]t 100.0 9.3 6.9 2.9 17.6 63.1
100 ~ 2008t Dj gt 100.0 9.0 7.2 3.3 28.5 51.8
200 ~ 3002+l 0]t 100.0 8.3 8.6 18 275 53.6
300 ~ 4008+ 0| et 100.0 7.8 8.0 2.0 27.8 54.3
400 ~ 5002+ 0] ot 100.0 7.8 9.4 19 28.6 52.2
500 ~ 6002+ O] St 100.0 9.1 11.5 1.1 30.9 47.3
6002 O] A 100.0 116 11.4 26 29.3 44.9

=11) 82 = statgolet

H

MEH U= HPEY



(S92 : %)
=9 HED| o = 8 22 2i
H (2225 "2 | ST |0 & = o oh 5| & | 8 &l =
N T )\l, | 1) oS o = = = = S
o Z e EAT (orcan [(mian | (s | 1d |2 s &
<2014>
& =2 100.0 16.6 31.7 47.3 4.4 0.0 100.0 6.2 3.5 0.7 754 14.2
<2016>
b = 100.0 186 30.8 455 51 0.0 100.0 5.6 45 1.0 71.1 17.7
= A& ®) (1000 182 300 470 48 0.0 100.0 5.1 44 1.0 719 17.6
SOE(SHE) 1000 206 350 381 6.4 0.0 100.0 8.4 51 0.9 67.3 18.4
o Xt 100.0 185 32.5 444 46 0.0 100.0 6.9 6.3 05 689 17.4
0f Xt 100.0 18.7 29.2 466 56 0.0 100.0 4.4 28 1.4 733 18.1
13 ~ 19Al 100.0 158 36.7 438 3.8 - 100.0 2.3 3.0 2.1 783 14.3
20 ~ 29Al 100.0 144 316 499 41 0.0 100.0 3.1 46 1.3 74.0 17.1
30 ~ 39Al 100.0 157 298 505 4.1 - 100.0 4.3 47 08 722 17.9
40 ~ 49H| 100.0 153 286 51.0 5.0 - 100.0 5.6 3.9 06 75.0 14.9
50 ~ 59Al 100.0 195 295 458 5.2 - 100.0 5.5 46 09 698 19.2
60 Ml Ol A 100.0 269 317 345 7.0 0.0 100.0 10.9 55 0.9 61.4 21.4
65 Ml 0] A 100.0 272 326 326 7.6 0.0 100.0 12.4 54 1.0 60.0 21.1
X = 0| & 100.0 231 369 329 7.1 0.0 100.0 10.2 53 1.2 64.9 18.5
= = 100.0 212 327 411 49 0.0 100.0 5.5 3.8 1.5 709 18.3
In] = 100.0 18.0 31.6 459 45 0.0 100.0 5.0 43 12 708 18.7
o= ol & 100.0 16.4 269 51.8 49 0.0 100.0 4.6 46 05 739 16.3
=
10 o 100.0 216 355 359 7.0 - 100.0 7.9 45 1.2 66.0 20.3
1A 100.0 258 291 399 52 0.0 100.0 7.6 41 0.8 68.1 19.4
2 I THJF 100.0 16.2 30.2 488 47 0.0 100.0 45 45 1.0 734 16.6
3MOioIA 2t [100.0 143 331 473 53 - 100.0 7.7 57 1.2 656 19.8
IR HER AS
1002+ O] o+ 100.0 235 350 343 7.1 0.0 100.0 9.1 49 16 638 20.5
100 ~ 2000+ 0/ [100.0 21.2 32.0 415 53 0.0 100.0 6.1 48 1.2 676 20.2
200 ~ 3002+ 0|9 [100.0 17.9 325 447 48 0.0 100.0 5.2 47 07 712 18.1
300 ~ 400221 0|9 [100.0 17.3 30.7 47.4 4.6 - 100.0 5.1 48 1.0 725 16.6
400 ~ 500821 O]9 [100.0 15.8 27.5 522 45 - 100.0 4.0 41 09 757 15.4
500 ~ 002+ 0|8+ [100.0 156 28.9 499 57 - 100.0 5.1 42 09 735 16.4
6000F2 O] A 100.0 171 2656 524 3.9 - 100.0 5.3 3.6 06 74.6 16.0
= 1) 200 L= MHE IS, JIED B AISJF SEOI0F Bt S5 A



=

I

= =
%)
= Mz &40 e 018”
HPHE"| mom | g | AFZ | AIE P REAE S g
£ 3 | o8 |1 €
<2014>
S =2 18.7 60.0 30.7 6.0 3.2 1.7 7.9 3.2
<2016>
S = 19.4 63.1 28.9 5.2 2.6 2.1 9.7 2.4
= AE ) 18.2 61.1 29.6 6.0 2.2 2.0 10.2 2.4
S0E(SHR) 24.8 70.1 26.4 2.4 4.0 2.2 8.0 2.4
=1 Xt 17.8 56.0 34.0 4.7 1.6 3.0 11.4 2.8
04 T 23.5 77.8 18.4 6.1 45 0.2 6.1 1.7
z = 0l & 15.2 79.6 5.6 5.7 8.6 1.2 2.3 3.1
= ES 22.2 79.7 14.4 4.3 4.0 0.3 4.4 1.8
2 = 21.8 62.1 28.8 6.2 1.4 1.9 10.8 2.9
& ol & 18.0 52.5 42.8 4.1 1.3 3.3 13.0 1.8
& 2 22 19.6 51.7 44.5 5.1 0.4 4.7 14.3 2.1
A @ 17.3 48.8 43.9 4.2 0.4 3.5 1.3 1.3
A BIA B OH 22.1 59.8 33.9 5.6 2.2 1.5 10.3 1.9
= o o 28.5 78.2 19.1 1.0 3.5 1.0 48 2.6
sz e 20.2 61.6 27.8 5.4 1.4 1.2 12.1 2.9
otRol 2R AS
1002+ 0] gt 12.8 74.9 7.7 10.4 7.4 0.5 2.1 4.3
100 ~ 2002+l 0|0t 19.9 65.4 20.0 7.8 4.3 1.5 7.8 3.4
200 ~ 3000+ 0| 2F 19.2 64.3 25.5 5.5 1.9 2.3 9.3 3.1
300 ~ 4008+ 0|Qt 21.3 64.4 36.0 4.9 0.9 1.6 7.5 1.5
400 ~ 5008+ 0|2t 20.9 57.7 39.6 0.5 0.3 0.9 14.6 1.3
500 ~ 6000+2! D] 2F 24.3 54.4 44.1 0.7 0.2 4.3 16.6 0.5
6000121 0] & 25.2 52.4 46.2 1.7 1.2 5.2 16.7 1.0
= 1) WS XLE DIEXEADE BRI (SRl ZE)0ol &0 A= It
5 AT Qs AR USSR, TNHE A

2) 8 Jt7FE ol2d Eol Xt SAlOl ELX

0I5, 2 &0l 100%E

H A
e= T

0o



5-2. EME (F*F) - Ui~

Et

Il

CH

A 103

~ M

ol

ol

A

<1

el
R

oF

D9

JIJ O
oD

o

-,

QNN

100.0 68.0 1.4 10.1 8.6 5.6 0.1 6.2

5.7

4.3

6.8

100.0 72.6 1.8 7.9 6.7

5.9

3.8

5.3 6.4

8.3

74.3

100.0

5.8

6.2

8.5

12.6

5.8

1.5

65.6

100.0

6.4

7.2

100.0 59.8 2.1 8.6 7.2 15.0

3.5

2.0

100.0 82.6 1.5 7.3 6.3 0.4

12.4

3.6

6.6

5.9

77.6 2.2

100.0

6.4

5.4

100.0 71.8 1.9 7.6 5.6 7.6

5.8

2.7

12.4 4.8

19.6

100.0 60.5

5.0

<2014>

r

<2016>

i

I+
1o

Al(

H

I

o

0D

~

i)
H

Xt

N

Kir
al
Rl

1l
K-

(0

- 62 -



5-3. EMIE ("9 F, 8E4-8E) - PIERH

ESYNIER = Ab ol ol)
i = O2XtEd g o440 A= 0w
NnlIE X & s o =t A4 o ol e
tdl& ot o =
<2014>
& = 15.3 52.7 37.2 4.2 0.8 9.6 2.2
<2016>
& = 16.0 54.9 34.6 41 0.7 1.7 1.5
S AE B) 14.8 51.2 36.1 5.0 0.6 12.5 1.6
sSHE(ESHR) 21.8 66.7 30.0 1.1 0.9 9.1 1.1
=1 Xt 16.3 52.3 36.9 4.0 0.2 12.5 1.6
o Xt 15.2 62.5 27.7 4.2 1.9 9.5 1.2
= £ 0l ot 12.8 85.0 6.7 3.8 2.6 2.7 2.3
= ES 18.0 78.0 17.5 2.7 1.2 5.4 1.4
n ES 18.0 53.7 34.5 5.1 0.1 13.0 1.4
& 0l & 14.9 37.1 51.2 3.4 0.5 15.7 1.4
oz 2 16.2 34.4 53.3 4.0 0.2 17.3 1.2
At 2 14.2 34.0 53.7 3.0 - 13.8 1.3
A HI A 2O 17.5 491 42.4 3.9 0.1 12.9 1.4
= 0 g 25.5 78.2 21.0 0.8 1.1 5.4 0.5
s kR 17.9 55.6 31.4 4.7 0.5 13.6 1.8
FRUNOEC
ot = 16.0 48.5 42.7 2.2 0.1 13.3 1.8
2 = 15.8 59.7 30.8 3.8 0.6 1.4 1.0
g 2t = 16.8 56.7 26.5 8.9 2.1 9.1 2.2
F01) 8 OtREY o EO MU SAIN EFXI0 410 s BRI AL, TIHE 410 Y= 018, o 801 100%E €2 =< AS



= < o AQLCH = =
5-4. EME (22 F, E48E) - =54 - =9
(2 : %)
2429 0z &40 A= 018"
EHIE JI=2H o4 24 Ab HEns
= ENEEPN] sk of = oo - ju
JIRHlIE & & st o = 5 o = 5 2 = O Jl Et
<= W>
<2014>
| = 171 60.7 28.2 6.4 3.4 1.5 8.7 2.7
<2016>
& = 17.8 62.9 27.1 5.8 2.7 2.1 10.5 2.3
T A(s 7 16.5 60.6 27.6 6.3 2.3 2.1 11.3 2.3
sHE(SHE 24.2 70.3 25.5 2.4 4.0 2.1 8.2 2.2
= N 16.4 56.4 31.8 4.8 1.8 3.0 12.4 2.6
O Xt 21.7 76.4 17.5 6.5 4.5 0.2 6.6 1.7
= & 0| o 14.6 79.0 5.7 5.9 8.9 1.2 2.4 3.0
ES ES 21.2 79.1 13.4 4.5 4.2 0.3 4.6 1.9
i ES 19.9 61.0 27.7 6.6 1.5 2.0 11.8 2.8
o & 0] & 16.2 53.0 39.8 3.8 1.2 3.1 14.4 1.5
N2 22 18.2 52.9 39.6 5.2 0.4 4.5 15.5 1.8
Ak £ 16.1 49.2 42.7 3.8 0.5 3.5 12.1 1.4
A Bl A EHOH 19.8 59.8 32.3 5.7 2.3 1.3 11.5 1.8
s o ¢ 28.3 78.6 18.4 1.0 3.5 0.9 4.9 2.5
sk ? 18.4 60.7 25.9 5.9 1.5 1.8 13.3 2.5
FERBSE
ot = 17.7 60.5 32.6 2.7 2.2 2.1 12.0 2.6
2 = 17.7 65.6 24.4 5.6 2.1 2.4 10.2 2.1
g o = 18.5 61.2 21.9 10.7 5.2 1.3 8.3 2.1
<=3 2>
<2014>
& = 2.1 46.9 49.1 1.9 0.4 2.7 - 6.1
<2016>
| = 2.1 56.2 4.7 3.2 0.9 1.6 - 3.2
St ]} ] 0\92 el ) _q_ [e]]

| 201 100%S

=]

=2
=

A
T X

0o



=CF
6-1. TIAI EE°l EHEF 2o

(S %)

2010 Fel0l  |R20l =2| Z=ms gmo| (20 =2| EHO

%l = c | ®¥coz | 5K® | = o | = ¢ | stxet | mmoz

¥ oo |gEC 2g 2olg =g

<2014>
= = 100.0 50.2 5.3 44.9 47.5 2.3 1.9 0.4
<2016>
& = 100.0 43.8 4.3 39.5 53.5 2.7 2.1 0.6
T AE = 100.0 43.1 4.0 39.1 54.2 2.7 2.1 0.6
=oE(S0 100.0 47.3 5.6 417 50.2 2.5 1.9 0.6
ot T 100.0 48.8 5.8 43.0 48.1 3.1 2.4 0.7
04 T 100.0 38.9 2.8 36.2 58.8 2.2 1.7 0.5
13 ~ 194 100.0 18.0 1.2 16.8 79.2 2.8 2.3 0.5
20 ~ 294 100.0 23.0 1.3 21.8 74.7 2.2 1.7 0.5
30 ~ 39Al 100.0 39.1 2.2 36.8 59.3 1.7 1.1 0.6
40 ~ 49H| 100.0 50.6 4.1 46.5 47.1 2.3 1.6 0.7
50 ~ 59A| 100.0 55.3 5.0 50.3 40.7 4.0 3.3 0.7
60 Ml Of & 100.0 56.6 8.6 48.0 40.4 3.0 2.3 0.6
65 Ml Ol & 100.0 56.5 9.7 46.8 41.0 2.5 1.9 0.6
% = 0| 3 100.0 477 8.1 39.7 50.0 2.3 1.8 0.5
= = 100.0 41.2 5.2 36.0 55.7 3.0 2.3 0.7
i) = 100.0 447 4.0 40.8 52.2 3.1 2.4 0.7
os ol & 100.0 42.1 2.7 39.5 55.6 2.3 1.7 0.6
JbRo FER AS

1008+ Ojgk 100.0 455 7.6 37.9 52.0 2.5 2.0 0.5
100 ~ 2009+l 0|8 100.0 42.4 4.9 37.6 54.5 3.1 2.5 0.6
200 ~ 3002+l 0|2t 100.0 44.4 3.9 40.5 52.8 2.9 2.2 0.7
300 ~ 4002+l 0|t 100.0 44.1 3.5 40.7 53.0 2.9 2.3 0.6
400 ~ 5000+l 0]t 100.0 43.9 3.8 40.0 54.2 2.0 1.4 0.5
500 ~ 6002+l O]t 100.0 42.3 3.3 39.0 54.9 2.8 1.7 1.1
6002+l 0] 4t 100.0 43.4 2.4 41.0 54.3 2.3 1.8 0.5
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[— =] Al
6-2, TIAL 2EO CHE! &2EH (19M] °1)
9l : %)
" 2010 Fol0l | 220l =2 | Zws dumo| | EE0l =2 g0l
Hl = ¢ |[dFo2| SNY |2 | = ¢ SN Moz
Moo | 4EE 2Y golg 22| & 9
<y B>
<2014>
S| = 100.0 80.5 25.0 55.5 16.4 3.1 2.3 0.8
<2016>
S| = 100.0 78.9 24.0 54.9 17.8 3.3 2.7 0.5
T As ®) 100.0 78.8 23.8 55.1 18.2 3.0 2.6 0.4
SoE(EHR) 100.0 79.2 24.8 54.4 16.4 4.4 3.4 0.9
19 ~ 294 100.0 65.8 15.5 50.2 29.7 45 45 -
30 ~ 39A 100.0 73.0 14.9 58.1 24.5 2.5 2.4 0.2
40 ~ 49A 100.0 81.7 24.7 56.9 16.4 1.9 1.5 0.4
50 ~ 59 100.0 80.6 25.5 55.1 15.3 4.1 3.7 0.4
60 Al Ol &t 100.0 79.4 28.0 51.4 16.5 4.1 3.1 1.0
65 Al 0l &t 100.0 79.5 30.4 49.1 16.7 3.9 2.7 1.2
3 o 100.0 79.5 23.3 56.2 17.5 3.0 2.5 0.4
Ao
T 100.0 76.5 26.5 50.0 19.0 45 3.6 0.9
<2 o>
<2014>
S| = 100.0 81.5 29.6 51.9 16.0 25 2.0 05
<2016>
S| = 100.0 79.6 28.4 51.2 17.7 2.7 2.3 0.4
T ANEs ®) 100.0 79.5 28.3 51.2 17.8 2.6 2.3 0.4
SOE(SHR) 100.0 79.8 28.6 51.2 17.1 3.1 2.4 0.7
19 ~ 29Al 100.0 67.4 15.4 52.0 30.1 2.6 1.8 0.8
30 ~ 39Al 100.0 77.5 21.4 56.1 20.7 1.8 1.5 0.3
40 ~ 49A 100.0 81.2 30.7 50.5 17.0 1.8 1.6 0.2
50 ~ 59| 100.0 81.0 29.4 515 15.5 3.6 3.2 0.4
60 Al Ol &t 100.0 80.0 32.9 47 1 16.3 3.7 2.8 0.8
65 Al 0l &t 100.0 79.1 34.0 45.1 17.1 3.8 2.8 1.0
3 o 100.0 76.1 24.3 51.7 20.9 3.0 2.8 0.3
Ao g
i 100.0 82.9 32.2 50.7 14.7 2.4 1.8 0.6

= JtF0IA 19A101 & 'S E
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— B
7-1. 78AL0| piot= 2N (13~24A))
(491 = %)
aEE| || ol | 3E ) 014 .
Ao e aax| I8 an | BT | ax | me | D30 mu [oE0 | &2
A 2| B2 loas| TF | ma) =8 | (gewm) %S
<2014>
| = 100.0 11.5 5.4 2.1 5.8 4.3 35.3 25.6 2.1 2.1 1.6 4.6
<2016>
| = 100.0 10.7 4.8 2.0 5.8 4.2 32.9 28.9 2.2 1.6 1.7 5.2
T AME 2) 100.0 10.6 4.8 1.7 5.9 4.3 33.2 29.0 2.2 1.7 1.5 5.0
SHE(SHS) 100.0 11.5 4.5 3.9 5.8 3.4 31.0 28.3 2.4 0.9 2.6 6.1
= Xt 100.0 8.7 4.5 2.2 5.6 4.4 33.0 29.8 2.0 1.6 2.5 5.9
O Xk 100.0 12.8 5.1 1.8 6.1 4.0 32.9 27.9 2.5 1.6 0.8 4.4
AU o1y
13 ~ 18All 100.0 12.5 4.7 1.8 2.1 4.1 53.7 10.4 3.6 0.7 1.9 4.6
19 ~ 24Kl 100.0 9.1 4.9 2.2 9.2 4.3 14.6 45.2 1.1 2.3 1.5 5.6
Had DEES
Mos M 100.0 10.9 4.3 1.4 4.5 4.6 44.7 19.9 2.9 1.1 1.7 3.9
- &MO0lat 100.0 14.5 5.5 2.4 1.0 3.6 51.8 6.9 5.5 0.5 2.1 6.7
-1 TH 100.0 10.9 4.1 1.3 1.9 3.7 60.0 9.7 3.0 0.7 1.8 3.0
- CHAH Ol & 100.0 8.9 3.7 1.0 9.1 6.1 25.5 37.7 1.3 2.0 1.4 3.3
Dl Et 100.0 10.8 6.0 3.3 8.8 3.3 7.4 48.1 0.9 2.5 1.6 7.9
FaNpEE
ot = 100.0 10.5 4.7 1.5 3.4 3.8 37.7 26.6 2.4 1.9 1.6 5.9
2 = 100.0 11.6 4.7 1.8 7.7 4.7 28.9 30.8 2.3 1.4 1.5 4.6
= 2 = 100.0 8.6 5.5 5.6 12.6 4.4 21.4 34.6 1.3 0.3 2.7 3.0

I

i1}
)

0o

b
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() e - o0
ool 1 %)
_ b=} _ AAE
=g 5 A7 | dewy | 2~ & | 2 n
A otix | ofoiyy |EMAOM <o H @ =z | H

<2014>
= = 1000 26.0 38 223 55 462 2.0 13 176 14

<2016>
a 2 1000 24.1 35 206 51 444 19 18 218 0.8
T AE =) 1000 23.8 33 205 5.4 441 2.0 19 220 0.8
=olE(ze) 1000 26.1 50 211 31 467 14 13 205 10
=t Xt 100.0 22.7 5.1 17.5 41 42.6 2.5 2.5 251 0.7
o Xt 1000 255 18 237 6.1 463 13 12 185 10

HaE o
13 ~ 184l 1000 29.6 40 256 45 407 0.8 28 205 1
19 ~ 244 1000 19.2 3.0 162 56 478 3.0 10 23.0 0.6

HAE DSEE

Wos M 1000 26.8 3.4 234 5.0 429 17 06 202 0.7
_ =70l3 1000 31.0 32 277 44 389 0.2 33 213 10
- o 1000 296 46 251 43 411 0.9 29 201 10
ol A 1000 217 04 193 6.2 469 3.3 18 198 0.3
5l & 1000 17.9 36 144 51 478 25 03 254 10

=pROIEG
ot = 1000 28.1 3.9 242 55 413 2.2 17 202 10
o = 1000 20.8 33 175 47 486 13 20 220 0.6
2 o = 1000 14.8 17 134 41 455 3.0 18 300 0.8
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=
8-1 S919]| CHP! EiE - mxa OIF| SJCiBfE M &F £ IC}
(2 %)
3l g 2 MHoz oF 2t gk O oF 2 o
s 9 s 2 gt H gt CH
<2014>
| = 100.0 46.6 8.3 38.3 53.4 29.5 24.0
<2016>

| = 100.0 48.0 9.5 38.5 52.0 29.4 22.6
T AMEs 5 100.0 48.0 9.6 38.4 52.0 29.6 22.5
SHE(SHE 100.0 47.7 8.8 38.9 52.3 28.7 23.6
=1 Xt 100.0 50.7 10.8 39.9 49.3 28.9 20.4
o Xt 100.0 45.3 8.1 37.1 54.7 29.9 24.8
13 ~ 19Al 100.0 57.2 13.3 43.9 42 .8 30.8 12.0
20 ~ 29Al 100.0 65.1 15.7 49.4 34.9 23.1 11.8
30 ~ 39Al 100.0 62.4 13.6 48.8 37.6 24.8 12.7
40 ~ 49Al 100.0 50.2 8.7 41.5 49.8 29.5 20.3
50 ~ 59Al 100.0 36.4 5.7 30.7 63.6 33.2 30.5
60 Ml O] & 100.0 29.2 4.3 24.9 70.8 33.3 37.5
65 Ml O & 100.0 27.7 4.0 23.7 72.3 33.0 39.3
= £ 0| of 100.0 35.7 7.2 28.4 64.3 33.0 31.3
= ES 100.0 43.1 7.5 35.7 56.9 31.8 25.0
) = 100.0 51.0 10.7 40.4 49.0 28.0 21.0
H & 0] & 100.0 51.4 9.8 41.6 48.6 28.6 20.0
0l = 100.0 63.4 14.9 48.5 36.6 24.8 11.8
B SXF UAS 100.0 41.5 71 34.3 58.5 31.5 27.0
At =} 100.0 30.6 3.9 26.6 69.4 33.7 35.7
o] = 100.0 56.1 11.8 44.3 43.9 25.4 18.5

bRl BEE A5
1008+ O] ot 100.0 39.7 8.1 31.6 60.3 30.4 29.9
100 ~ 2008+ 0| et 100.0 48.3 10.9 37.4 51.7 28.4 23.2
200 ~ 3008+ 0| et 100.0 49.9 9.6 40.2 50.1 28.3 21.9
300 ~ 4008+ 0| et 100.0 50.6 9.1 41.5 49.4 29.9 19.6
400 ~ 5008+ 0| et 100.0 48.3 8.0 40.3 51.7 30.8 20.8
500 ~ 6008+ 0|8t 100.0 48.1 10.8 37.3 51.9 30.0 21.9
6008HA O] Ak 100.0 48.7 9.6 39.1 51.3 29.1 22.2
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=
8-2. S9UI0]| CHE! B - ZEoir| o RIS IR 4 QUC
(Sl : %)
H g 9 Moz oF 2t B Cf or 2t Moz
= 9| = 9 B O gt CH
<2014>
| = 100.0 22.5 3.7 18.7 77.5 33.7 43.8
<2016>

| = 100.0 24.2 4.5 19.7 75.8 34.5 41.3
T A(E B) 100.0 23.7 4.5 19.2 76.3 34.6 41.7
SHE(SHSR) 100.0 26.8 4.6 22.2 73.2 33.9 39.3
= Xt 100.0 26.7 5.1 21.6 73.3 34.9 38.4
o Xt 100.0 21.9 3.9 17.9 78.1 34.0 44 1
13 ~ 19Al 100.0 27.9 6.4 21.5 721 41.0 31.2
20 ~ 29Al 100.0 31.9 7.5 24.3 68.1 36.6 31.5
30 ~ 39Al 100.0 32.5 6.7 25.8 67.5 36.3 31.2
40 ~ 49Al 100.0 24.3 3.7 20.6 75.7 33.8 41.9
50 ~ H9Al 100.0 16.9 2.6 14.4 83.1 32.7 50.3
60 Ml O & 100.0 17.2 2.3 15.0 82.8 30.9 51.9
65 Ml O & 100.0 16.9 2.2 14.7 83.1 31.0 52.1
= £ 0| o 100.0 19.8 3.5 16.4 80.2 33.0 47.2
= = 100.0 21.7 3.8 17.9 78.3 35.3 43.0
) = 100.0 25.1 4.7 20.3 74.9 33.3 41.6
f £ 0] &t 100.0 26.0 4.9 21.1 74.0 36.0 38.0
0l =3 100.0 32.6 7.5 25.1 67.4 37.2 30.2
BI2X US 100.0 20.7 3.2 17.5 79.3 33.3 46.0
A =] 100.0 16.6 1.9 14.7 83.4 32.7 50.7
0l =3 100.0 25.6 4.9 20.7 74.4 34.0 40.4

e R R A
1002+ O] et 100.0 23.6 4.5 19.1 76.4 31.4 451
100 ~ 2008+ 0|2t 100.0 25.3 4.8 20.6 74.7 33.1 41.5
200 ~ 3002+ 0|2t 100.0 25.5 4.4 21.2 74.5 34.1 40.4
300 ~ 4002+ 0|2t 100.0 24.9 4.1 20.8 751 35.7 39.3
400 ~ 5002+ 0|2t 100.0 22.8 4.5 18.3 77.2 35.9 41.3
500 ~ 6002+ 0|2t 100.0 22.8 4.8 18.0 77.2 35.4 41.8
6002HA O] &k 100.0 22.4 4.7 17.8 77.6 36.5 411
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o - el — | —_—
8-3. XETI9 CHE! B - ei=e'at BEOT A=IQAC]
(2 %)
H £ 9 HEO2 o 2t B Cf o 2t Hx¥oz
s 9 s 9 gt Y gt CH
<2014>
| = 100.0 63.2 17.3 45.9 36.8 24 .4 12.3
<2016>
| = 100.0 66.1 19.0 47 1 33.9 22.8 11.1
T AM(Es 5 100.0 66.8 19.6 47.3 33.2 22.5 10.7
SHE(SHER) 100.0 62.8 16.3 46.5 37.2 24.5 12.7
=1 Xt 100.0 66.5 18.0 48.5 33.5 23.1 10.4
o Xt 100.0 65.8 20.0 45.8 34.2 22.6 11.7
13 ~ 19Al 100.0 77.2 30.3 46.8 22.8 16.6 6.2
20 ~ 29A 100.0 76.6 29.9 46.7 23.4 16.5 6.9
30 ~ 39A 100.0 76.2 26.3 49.9 23.8 17.6 6.3
40 ~ 49Al 100.0 67.9 16.1 51.8 32.1 22.9 9.2
50 ~ H9Al 100.0 57.3 11.3 45.9 42.7 27.8 15.0
60 Ml O] & 100.0 52.6 10.2 42.4 47 .4 29.6 17.8
65 Ml O] & 100.0 51.4 10.0 41.4 48.6 29.8 18.7
= £ 0| of 100.0 55.9 14.5 41.4 44 1 27.2 16.9
= ES 100.0 62.9 18.0 44.9 37.1 24.3 12.8
) = 100.0 65.4 17.9 47.5 34.6 23.2 11.4
O = 0] & 100.0 72.2 22.4 49.8 27.8 20.1 7.7
0l = 100.0 75.6 27.3 48.3 24.4 17.3 71
BI2X US 100.0 62.9 15.9 47.0 37.1 25.0 12.1
At =} 100.0 50.4 9.8 40.6 49.6 29.1 20.5
o = 100.0 68.7 17.8 50.9 31.3 21.7 9.7
obPel BEE AS
1008+ O] ot 100.0 59.0 15.7 43.3 41.0 24.8 16.2
100 ~ 2008+ 0| et 100.0 63.5 16.7 46.8 36.5 24 1 12.3
200 ~ 3008+ Ol et 100.0 66.7 19.5 47 .2 33.3 22.4 11.0
300 ~ 4008+ 0| et 100.0 68.3 18.7 49.7 31.7 22.0 9.7
400 ~ 5008+ 0| et 100.0 68.2 20.8 47 .4 31.8 22.5 9.3
500 ~ 6008+ 0|t 100.0 70.2 22.3 47.9 29.8 21.9 7.8
6002+ O] & 100.0 68.8 21.7 47 A 31.2 21.6 9.6
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8-4. ZX2YIO FHE! BT - ZAme ARIECT TS0 2 g.810

p] £ 9o Mmooz o 2t Bt O o 2t
s o £ 9 ot O
<2014>
& = 100.0 53.1 9.6 435 46.9 36.6
<2016>

& = 100.0 52.0 9.6 425 48.0 36.6
T AMES 2 100.0 51.4 9.4 42 1 48.6 37.1
sHE(ESHS) 100.0 54.9 10.5 44.4 451 34.3
o Xt 100.0 53.2 9.5 43.6 46.8 35.9
o Xt 100.0 50.9 9.6 41.4 49.1 37.4
13 ~ 194l 100.0 49.2 8.0 41.2 50.8 39.7
20 ~ 29 A 100.0 45.3 7.0 38.3 54.7 41.9
30 ~ 39A 100.0 49.8 9.0 40.8 50.2 38.2
40 ~ 49H 100.0 50.1 8.5 41.6 49.9 38.4
50 ~ 59 A 100.0 53.8 9.9 43.8 46.2 34.8
60 Al O & 100.0 59.7 13.0 46.8 40.3 30.7
65 Al 0 & 100.0 60.6 13.4 47.2 39.4 29.8
x =0l o 100.0 58.3 12.5 45.9 4.7 31.6
= = 100.0 54.8 10.2 44.6 45.2 35.3
2 - 100.0 52.4 9.8 42.6 47.6 36.1
0= ol & 100.0 48.1 7.9 40.2 51.9 39.7
ol & 100.0 46.9 7.4 39.5 53.1 411
X 2US 100.0 53.9 10.3 43.6 46.1 35.0
At = 100.0 58.8 12.4 46.4 41.2 31.8
ol s 100.0 51.7 10.4 41.4 48.3 35.3

tPol 2R AS
1002+2! 0] 8t 100.0 56.0 11.8 44.2 44.0 32.9
100 ~ 2008+l 08t 100.0 54.1 10.8 43.3 45.9 34.6
200 ~ 3002+2! 0] &t 100.0 52.7 9.1 43.6 47.3 36.2
300 ~ 4002+2! O] &t 100.0 51.8 9.0 42.8 48.2 37.0
400 ~ 5002+2! 0] &t 100.0 49.8 7.7 42.1 50.2 39.3
500 ~ 6002+2! 0] &t 100.0 49.4 10.2 39.2 50.6 39.3
6008HR! 014 100.0 47.8 8.7 39.1 52.2 39.5
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(549l © %)
s o [ o o pse [ o o s x
3 2 O < 2 lesog | & el
HOICH | 2tAs | 2tas HOIC | DEs | pEs | 220
HoiCh | ®molct moic | molct
<2014>
& = 100.0 3.2 0.8 2.4 17.5 75.9 43.2 32.7 3.4
<2016>
& = 100.0 3.8 1.0 2.8 17.7 75.4 42 1 33.3 3.1
T A(E B) 100.0 3.7 1.0 2.7 17.5 75.9 42.2 33.7 2.9
SHE(SHER) 100.0 4.2 0.8 3.3 18.4 73.2 41.9 31.3 4.2
=t Xt 100.0 3.9 1.1 2.8 18.8 74.0 41.3 32.7 3.3
o Xt 100.0 3.7 0.9 2.8 16.6 76.7 42.9 33.8 3.0
0 & & X 100.0 3.9 1.1 2.8 21.8 68.3 36.6 31.6 6.1
o0& o X 100.0 2.7 0.7 2.0 17.7 74.8 39.7 35.1 4.8
13 ~ 19Al 100.0 3.6 0.8 2.7 27.8 57.9 36.8 21.1 10.7
20 ~ 29Al 100.0 3.3 0.9 2.3 17.5 75.5 37.6 37.9 3.7
30 ~ 39Al 100.0 2.7 0.7 2.0 13.8 82.3 43.2 39.1 1.2
40 ~ 49Al 100.0 2.8 0.7 2.1 15.6 79.9 44 .4 35.5 1.7
50 ~ B59Al 100.0 4.5 1.1 3.4 16.0 77.3 44.0 33.4 2.1
60 Ml O & 100.0 5.2 1.3 3.9 19.8 71.8 43.2 28.6 3.2
65 Ml O & 100.0 5.0 1.3 3.7 20.1 711 42.3 28.8 3.8
= £ 0| o 100.0 4.2 1.0 3.2 22.5 66.3 38.9 27.4 7.0
= = 100.0 4.7 1.1 3.6 22.6 66.7 41.9 24.8 5.9
) = 100.0 4.1 1.2 2.9 18.0 75.2 42.5 32.7 2.6
& 0| &b 100.0 2.9 0.6 2.3 13.6 82.4 43.1 39.3 1.1
o FEP AS
1002+ O] et 100.0 5.1 1.6 3.5 20.3 69.5 39.6 29.9 5.1
100 ~ 20082+ O] 2t 100.0 4.5 0.9 3.5 19.1 73.0 411 31.9 3.5
200 ~ 3002+ 0|2t 100.0 3.8 1.0 2.9 17.5 75.5 42.4 33.1 3.2
300 ~ 4002+ 0|2t 100.0 3.5 1.0 2.5 17.2 76.5 44.2 32.3 2.8
400 ~ 5002+ 0|2t 100.0 3.0 0.8 2.3 18.0 76.5 43.2 33.3 2.4
500 ~ 6002+ 0|2t 100.0 3.1 0.8 2.3 16.2 78.2 42.4 35.9 2.5
6002HR O] &f 100.0 2.8 0.7 2.2 14.0 81.1 41.6 39.5 2.1




10-1. X9

s ot T =2, | & X .
A s o |2 S Al|Bhs 200 |GHI QOIS | 20tor |5HAl e | Bt ObOH & 2oy 1y
= GOt BHCH = CHl & CF | 8 O |20l =08t 7
<2014>
& =2 100.0 56.8 14.9 41.9 38.9 2.0 1.6 0.4 2.2
<2016>
& =2 100.0 51.9 12.5 39.3 42.9 3.1 2.5 0.6 2.2
T OAE B 100.0 50.8 1.6 39.2 43.8 3.2 2.6 0.6 2.2
SoiE(SHE 100.0 57.1 16.9 40.2 38.2 2.7 2.3 0.4 1.9
o X 100.0 56.3 13.4 42.9 38.9 2.4 1.9 0.6 2.3
of Xt 100.0 47.5 1.7 35.9 46.7 3.8 3.2 0.6 2.0
s <X 100.0 42.9 7.4 35.6 49.3 3.3 2.5 0.9 4.5
2o x 100.0 31.0 4.0 27.0 59.5 6.0 4.9 1.1 3.5
13 ~ 19Al 100.0 37.1 6.0 31.1 52.4 4.0 3.1 0.9 8.5
20 ~ 29l 100.0 41.9 6.5 35.5 50.4 4.7 3.7 1.0 3.0
30 ~ 39Al 100.0 40.7 5.3 35.4 53.7 4.0 3.3 0.7 1.6
40 ~ 49H| 100.0 44.2 7.6 36.6 50.9 3.5 2.9 0.6 1.4
50 ~ 59Kl 100.0 59.8 13.7 46.1 36.9 2.0 1.7 0.3 1.3
60 Al Ol A 100.0 73.2 28.1 45.2 23.6 1.7 1.3 0.3 1.5
65 Al O] &t 100.0 75.0 31.7 43.3 21.8 1.5 1.2 0.3 1.6
% = 0| & 100.0 65.6 25.2 40.4 28.8 2.2 1.8 0.4 3.4
= = 100.0 55.1 15.0 40.2 38.5 3.2 2.4 0.8 3.2
Il = 100.0 49.0 10.7 38.3 45.0 3.8 3.2 0.6 2.2
= ol & 100.0 48.1 8.4 39.8 47.8 2.8 2.2 0.6 1.2
0| = 100.0 37.7 5.9 31.8 53.8 4.5 3.5 1.0 4.0
B US 100.0 58.1 14.4 43.7 38.3 2.4 2.0 0.4 1.1
i\ = 100.0 68.1 27.8 40.3 27.3 2.3 2.0 0.3 2.4
0l = 100.0 39.9 8.2 31.6 53.2 4.7 3.9 0.8 2.2
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10-2. |9 c}

flad |

== g2 UL, | Olg UeH
OlEdiM= o glosl e o o c| s s 5= 310 e
or =Tt s ok et =& AT Z0
<2014>
il = 100.0 44.4 11.3 33.1 39.9 12.0 3.7
<2016>
il = 100.0 39.5 9.5 30.0 431 14.0 3.4
S AME B 100.0 37.9 8.5 29.4 44.2 14.4 3.5
sHE(SHE 100.0 47.0 14.1 32.8 37.8 12.1 3.1
=1 Xt 100.0 45.0 10.4 34.6 39.5 11.5 4.1
o Xt 100.0 34.2 8.6 25.6 46.6 16.4 2.8
o &g X 100.0 34.0 6.6 27.3 58.3 44.4 13.9
o & o X 100.0 17.7 2.8 14.8 77.3 54.8 22.5
13 ~ 19Al 100.0 28.0 5.9 22.2 46.8 14.8 10.3
20 ~ 29Al 100.0 27.3 5.1 22.2 49.4 18.7 4.6
30 ~ 39Al 100.0 31.7 4.9 26.7 50.2 15.0 3.1
40 ~ 49A 100.0 32.9 5.6 27.3 49.9 14.9 2.3
50 ~ 59Al 100.0 43.7 9.9 33.7 41.2 12.8 2.3
60 Al Ol & 100.0 60.6 20.3 40.3 27.6 9.8 2.0
65 Al Ol & 100.0 64.1 23.3 40.8 24.6 9.1 2.2
= £ 0l ot 100.0 56.9 20.5 36.4 28.1 10.1 4.8
= ES 100.0 41.2 11.5 29.7 40.4 13.0 5.5
i) = 100.0 36.4 8.0 28.3 45.0 15.4 3.2
O £ 0l & 100.0 35.1 5.7 29.3 48.2 14.4 2.4
gl = 100.0 26.8 5.0 21.9 49.0 17.6 6.6
B XAS 100.0 45.3 10.7 34.5 41.2 11.5 2.0
At e 100.0 57.2 21.7 35.6 28.8 10.8 3.1
0l = 100.0 20.7 3.6 17.1 50.5 27.3 1.5
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10-3. MOl EHE o

SOt e £ ot X
Al Ct Bt & Al|ot= 20l | oKl &ZO0t= | ZH0LOF | BHXl &= |of
oHOF BtCH| & Ch| = Ct gt O |20l ECH|st
<2014>
sl = 100.0 16.5 1.2 15.3 60.0 15.5 11.9
<2016>
& = 100.0 14.2 1.0 13.2 62.3 16.3 12.5
T AMES 2 100.0 13.5 0.9 12.6 63.2 16.1 12.5
SHE(EYR) 100.0 17.4 1.6 15.9 57.9 17.7 12.3
=1 N 100.0 17.2 1.3 15.9 61.7 13.2 9.9
o N 100.0 1.3 0.8 10.4 62.8 19.4 15.0
ol g X 100.0 13.5 1.0 12.5 65.5 8.5 6.1
00 X 100.0 9.1 0.5 8.6 2.7 8.8 6.4
13 ~ 19Al 100.0 7.9 0.8 7.2 65.5 1.2 7.7
20 ~ 29Al 100.0 12.5 0.8 11.6 70.7 7.5 5.7
30 ~ 39Al 100.0 12.7 1.0 11.6 69.0 1.7 9.3
40 ~ 49A 100.0 11.8 0.7 1.2 65.1 18.1 14.6
50 ~ 59A 100.0 14.8 0.8 141 58.3 21.0 16.1
60 Al O 2f 100.0 20.6 1.9 18.8 51.0 22.6 16.4
65 Al O 2 100.0 21.9 2.1 19.8 49.2 22.9 16.2
= £ 0l ot 100.0 18.1 1.8 16.3 51.3 21.5 14.8
= ES 100.0 13.4 0.9 12.5 57.8 18.5 13.4
i ES 100.0 13.6 1.0 12.6 62.3 16.9 13.2
th £ 0l & 100.0 13.5 0.8 12.7 68.3 12.9 10.4
ol = 100.0 1.6 0.8 10.7 68.7 8.6 6.3
tHXAS 100.0 15.1 1.1 14.0 60.4 19.1 14.8
At = 100.0 18.3 1.6 16.7 50.9 24.4 17.7
0l = 100.0 13.4 1.0 12.4 61.0 20.2 15.6




- OI10Ek b Al
11-1. &l EHE 2391 (19AM1 °IY)
(&2l %)
EEEES o
Sa0lOl2i® | A@R0l 01240 | s e ooy
A o= m3 | slEm s | M0l gd ==A0
Dejal AT
<2014>
il = 100.0 21.6 15.6 32.6 30.2
<2016>
bl = 100.0 18.9 12.3 39.3 29.5
S AME ) 100.0 19.2 12.1 39.4 29.3
sHE(ESHSR) 100.0 17.0 13.3 39.0 30.6
=1 Xt 100.0 18.8 11.9 38.6 30.6
o Xt 100.0 18.9 12.7 40.0 28.4
19 ~ 29 Al 100.0 27.4 11.4 27.5 33.7
30 ~ 39Al 100.0 22.6 12.5 411 23.8
40 ~ 49A 100.0 16.8 13.5 44.6 25.1
50 ~ 59 A 100.0 16.4 13.0 409 29.7
60 Al O &t 100.0 13.5 11.3 40.7 34.5
65 Al O & 100.0 12.4 11.3 40.0 36.3
= & 0| ot 100.0 11.8 9.1 39.3 39.7
= ES 100.0 12.9 1.7 411 34.3
n = 100.0 19.4 12.5 37.5 30.6
th £ 0l & 100.0 22.1 13.3 40.8 23.8
0l = 100.0 24.4 12.1 28.6 35.0
<At A S 100.0 17.9 12.5 43.5 26.0
At £ 100.0 12.5 9.9 38.6 38.9
0l = 100.0 13.3 14.7 39.4 32.6
& 2 2 el 100.0 23.4 13.9 40.7 22.0
At g2 100.0 21.4 12.8 40.6 251
A Bl A 20 100.0 19.6 13.8 39.0 27.6
= o 100.0 14.2 10.8 39.6 35.4
skt 100.0 16.6 11.9 39.6 31.9
EXETEPE
1002+ 0| gt 100.0 16.5 11.8 36.7 35.0
100 ~ 2008+ 0| 2F 100.0 16.2 12.2 37.7 33.9
200 ~ 3002+& OJ et 100.0 18.7 12.7 37.6 31.0
300 ~ 4002+& 0Of et 100.0 19.1 11.8 39.5 29.5
400 ~ 5002+ 0] gt 100.0 19.8 13.1 42.2 24.9
500 ~ 6002+& O] et 100.0 22.2 12.9 41.6 23.4
6008H 0l &f 100.0 23.1 11.8 43.2 22.0
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11-2,

I U'
( t %)
9 e
ool |ZHEo2| e XA 0 ; : o
SR oMz | =0l | O AR el 0, |§M B
CHA | =22 | B o2 =l Pt
<2014>
S = 100.0 57.2 19.3 6.3 9.0 - 6.37 2.0
<2016>
| = 100.0 42.9 16.8 4.1 3.4 32.2 0.5 0.2
T A(Es =B 100.0 42.5 16.6 4.2 3.8 32.8 0.4 0.2
sHE(SHE 100.0 447 17.9 3.7 4.0 29.1 0.6 0.1
= Xt 100.0 46.0 16.9 4.1 3.1 29.3 0.5 0.2
o Xt 100.0 40.0 16.8 4.1 3.7 34.8 0.5 0.2
19 ~ 29Al 100.0 42 .4 15.0 5.1 2.6 34.3 0.4 0.1
30 ~ 39Xl 100.0 38.2 14.9 3.9 2.8 40.0 0.1 0.2
40 ~ 49Al 100.0 38.5 19.1 2.9 2.8 36.3 0.3 0.1
50 ~ 59Kl 100.0 445 19.8 3.5 3.2 28.4 0.4 0.3
60 Al Ol & 100.0 49.5 14.6 5.5 5.0 24.3 1.0 0.1
65 Al Ol & 100.0 50.0 13.1 6.3 5.1 24.3 1.0 0.1
= & 0| o 100.0 49.5 171 5.5 4.8 221 0.9 0.1
= = 100.0 491 19.4 4.6 3.9 22.3 0.6 0.1
ni ES 100.0 41.8 19.0 4.0 2.9 31.7 0.4 0.2
o £ 0l & 100.0 40.3 141 3.7 3.3 38.2 0.3 0.2
1] s 100.0 447 15.1 5.1 3.0 31.7 0.3 0.1
IR AS 100.0 41.8 16.9 3.6 3.4 33.6 0.5 0.2
Ak 2| 100.0 48.8 16.0 5.5 4.6 24.3 0.8 -
ol = 100.0 42.5 23.3 5.5 2.3 25.5 0.5 0.4
o 2 22 100.0 42.2 12.6 3.4 2.8 38.3 0.5 0.2
Ak 2 100.0 38.2 15.5 3.7 3.0 39.4 0.1 0.2
A I A EHOY 100.0 43.7 15.5 4.1 3.7 32.3 0.6 0.1
s 0 g 100.0 53.4 15.5 4.8 3.5 22.2 0.6 -
skt R 100.0 42 .2 22.4 3.7 2.7 28.5 0.2 0.2
7ol HIYR AS
1000+ DSt 100.0 48.4 18.4 5.9 4.3 21.7
100 ~ 2002+ 0] 2+ 100.0 44 .4 19.4 5.8 3.3 26.3
200 ~ 3002+ D2t 100.0 411 20.0 4.1 3.0 31.5
300 ~ 40082+ 0] 2F 100.0 40.4 16.7 3.1 3.0 35.9
400 ~ 5002+ 0|2+ 100.0 44.8 16.0 2.6 3.0 33.3
500 ~ 6002+ 0| Ct 100.0 39.1 15.1 4.0 3.0 38.6
6002t 0] & 100.0 41.4 8.4 3.0 4.6 42 1
1) 'YABtD A2 M0l QUCHD SEE XY
2) 2014492 "L THHH AYAS =2 £ U2 2'0f et & =20I1US
3) 201640l AFRZ It 28



H F—1AH zZx
QINO| AR DS
(S+21: %)
p] o = - o ot 28 | Bum | -
< UWE>
<2014>
| = 100.0 47.7 11.5 36.2 42.5 9.8 7.8 2.0
<2016>
| = 100.0 48.6 12.1 36.5 42.3 9.1 7.4 1.8
= Xk 100.0 49.1 12.3 36.8 41.4 9.5 7.4 2.1
o Xk 100.0 48.0 11.9 36.1 43.3 8.7 7.3 1.4
=51 M 100.0 48.1 13.6 34.5 43.3 8.6 7.2 1.4
= Xt 100.0 49.7 15.2 34.5 41.8 8.4 7.0 1.4
o Xt 100.0 46.3 11.8 34.5 44.9 8.8 7.4 1.4
CHstol &t M 100.0 49.2 10.3 38.9 41.0 9.8 7.6 2.2
= Xt 100.0 48.3 8.6 39.7 40.8 10.9 7.9 3.0
o Xt 100.0 50.1 12.1 38.1 41.2 8.6 7.2 1.4
<D WY >
<2014>
| = 100.0 44.0 9.8 34.2 41.6 14.4 12.2 2.3
<2016>
| = 100.0 42.9 10.3 32.6 43.3 13.8 11.6 2.2
= Xt 100.0 44.3 10.7 33.6 42.7 13.0 10.6 2.4
o Xt 100.0 41.3 9.8 31.5 44.0 14.7 12.7 2.0
ES=SE—\| 100.0 43.2 12.0 31.8 43.5 13.2 1.4 1.8
= Xk 100.0 45.3 13.8 31.5 42.5 12.2 0.6 1.6
o Xk 100.0 41.0 10.0 31.0 44.7 14.3 2.3 2.0
CHEHOl & M 100.0 42.4 8.2 34.3 43.1 14.5 1.8 2.7
= Xk 100.0 43.1 6.9 36.2 42.9 14.0 0.6 3.4
o Xk 100.0 41.7 9.5 32.2 43.2 15.1 3.1 2.0
< A >
<2014>
| = 100.0 69.5 27.9 41.5 26.8 3.8 2.9 0.9
<2016>
| = 100.0 68.8 26.6 42.2 27.1 4.1 3.2 0.9
= Xk 100.0 69.8 26.8 43.0 26.7 3.5 2.7 0.8
o Xk 100.0 67.7 26.3 41.8 27.5 4.8 3.9 0.9
=510 M 100.0 73.4 32.0 41.4 23.4 3.2 2.6 0.6
= Xt 100.0 74.8 32.5 42.4 23.0 2.2 1.7 0.5
o Xt 100.0 72.0 31.6 40.4 23.8 4.2 3.5 0.7
CHstol &t T 100.0 62.9 19.7 43.2 31.9 5.8 4.1 1.2
= Xt 100.0 63.4 19.6 43.8 31.5 5.1 3.9 1.2
o Xt 100.0 62.3 19.8 42.5 32.3 5.4 4.3 1.1
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Zx
12, S0 SONE BEE -
2l %)
p] o = - o ot s | =us | -
< WAH =)k 2 >

<2014>
o = 100.0 50.8 15.8 35.0 421 7.1 5.9 1.1

<2016>
& = 100.0 53.1 17.2 35.9 40.4 6.5 5.7 0.7
=1 N 100.0 54.0 17.5 36.5 39.7 6.3 5.6 0.7
o ", 100.0 52.3 16.9 35.4 411 6.7 6.0 0.7
== 1M 100.0 58.7 22.0 36.7 36.5 4.8 4.2 0.6
=1 N 100.0 60.6 22.6 38.0 34.1 5.3 4.5 0.8
o N 100.0 56.7 21.5 35.3 39.0 4.3 3.8 0.5
CHErol &k TH 100.0 46.1 11.1 35.0 45.3 8.6 7.8 0.8
=1 N 100.0 45.6 11 34.5 46.8 7.6 6.8 0.7
o N 100.0 46.7 11 35.5 43.7 9.7 8.7 1.0

<& AE &l >

<2014>
sl = 100.0 38.7 10.2 28.5 43.3 18.0 14.1 3.9

<2016>
o = 100.0 41.0 11.6 29.4 431 15.9 12.6 3.3
=1 N 100.0 43.0 12.5 30.5 42.4 14.6 11.3 3.2
o N 100.0 38.9 10.6 28.4 43.8 17.2 13.9 3.3
== DS M 100.0 40.7 13.0 27.7 43.4 16.0 12.9 3.1
=1 ", 100.0 42.7 14.8 28.0 41.9 15.4 12.0 3.4
o ", 100.0 38.5 11.0 27.4 44.9 16.6 13.8 2.8
CHErol &k TH 100.0 41.5 9.8 31.7 42.8 15.7 12.2 3.5
=1 N 100.0 43.3 9.7 33.6 431 13.5 10.5 3.1
o ", 100.0 39.5 9.9 29.6 42.5 18.0 14.1 3.9

<& FHE EF >

<2014>
sl = 100.0 37.5 10.4 271 44.7 17.7 13.8 4.0

<2016>
& = 100.0 39.8 11 28.7 42.8 17.4 13.9 3.5
=1 ", 100.0 40.5 1.7 28.8 42.3 17.3 13.7 3.6
o ", 100.0 39.2 10.5 28.7 43.3 17.5 14.0 3.5
== 1M 100.0 40.9 12.9 27.9 44.6 14.5 12.1 2.4
=1 N 100.0 43.0 14.2 28.8 43.3 13.7 11.1 2.7
o N 100.0 38.6 1.5 27.1 46.0 15.3 13.2 2.2
CHErol &k TH 100.0 38.5 8.8 29.7 40.5 21.0 16.1 4.9
=1 N 100.0 37.3 8.5 28.8 41.0 21.7 17.0 4.7
o N 100.0 39.8 9.1 30.8 39.9 20.3 15.1 5.1
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- 81 -

7%
12, Q0] AUDNE BEE -
2 %)
A ot = =) ok 2t g2 3 otx 2t =3
< AFD ML >

<2014>
| = 100.0 35.8 9.5 26.3 45.6 18.7 13.7 5.0

<2016>
sl = 100.0 37.2 9.9 27.3 45.6 17.2 13.6 3.6
=1 Xt 100.0 38.4 10.5 27.8 45.4 16.2 12.4 3.8
o Xt 100.0 35.9 9.3 26.7 45.8 18.2 14.9 3.4
=505 M 100.0 35.4 10.4 25.0 461 18.6 15.0 3.6
=4 Xt 100.0 37.8 12.7 25.0 451 17.2 13.3 3.9
o Xt 100.0 32.8 7.9 25.0 47 1 20.1 16.7 3.3
CHstol &t M 100.0 39.5 9.4 30.1 45.0 15.5 11.9 3.6
=4 Xt 100.0 39.1 7.8 31.3 45.8 15.1 11.3 3.8
o Xt 100.0 39.9 111 28.8 442 15.9 12.5 3.4

<@z >y

<2014>
| = 100.0 40.6 11.4 29.2 45.8 13.6 10.4 3.2

<2016>
| = 100.0 42.3 11.5 30.8 45.9 11.8 9.1 2.7
=1 Xt 100.0 41.3 10.9 30.4 47.3 11.4 8.1 3.3
o Xt 100.0 43.4 12.2 31.2 445 12.2 10.2 2.0
=505 M 100.0 32.6 8.1 24.5 52.6 14.8 10.5 4.3
=4 Xt 100.0 34.8 10.2 24.6 51.6 13.5 7.6 5.9
o Xt 100.0 30.3 5.9 24.4 53.6 16.1 13.5 2.6
CHstol &t M 100.0 47.3 13.2 34.0 42.5 10.3 8.4 1.8
=4 Xt 100.0 44.6 11.2 33.4 451 10.3 8.4 1.9
o Xt 100.0 50.0 15.4 34.7 39.8 10.2 8.5 1.7

<HgrtEol sty ME>

<2014>
| = 100.0 49.7 13.2 36.6 43.8 6.4 5.5 1.0

<2016>
| = 100.0 52.3 13.5 38.7 41.8 6.0 4.9 1.1
=1 Xt 100.0 53.6 14.4 39.2 40.6 5.8 4.7 1.0
o Xt 100.0 50.9 12.6 38.2 43.0 6.2 5.1 1.1
=505 M 100.0 53.3 17.0 36.3 41.6 5.1 4.4 0.7
=4 Xt 100.0 55.7 19.2 36.5 39.5 4.8 4.0 0.7
o Xt 100.0 50.8 14.7 36.0 43.8 5.5 4.7 0.7
CHstol &t M 100.0 51.0 9.1 41.9 42.0 7.0 5.5 1.5
=4 Xt 100.0 50.9 8.3 42.7 42 1 7.0 5.6 1.4
o Xt 100.0 51.0 9.9 411 42.0 7.0 5.5 1.6

F 1) SE Y oI2H NSSH2 Hels



13-1, &ag'lo] o= 18 4

b

- 82 -

9 nsst oi&H(w) CHsru !
0l ot (4E X 012 &) )
<2014>
& = 100.0 3.4 13.5 61.9 10.8 10.5
<2016>
& = 100.0 3.0 12.1 64.7 1.2 9.0
T AE =) 100.0 3.0 1.6 64.2 1.7 9.5
soE(EHR) 100.0 3.2 15.4 68.0 7.6 5.8
= N, 100.0 3.5 12.5 65.3 10.2 8.5
o4 N 100.0 2.5 11.6 64.0 12.2 9.7
== 1M 100.0 6.0 12.6 69.2 6.3 5.9
=1 N 100.0 7.2 12.0 68.8 6.3 5.7
o4 N, 100.0 4.9 13.3 69.5 6.2 6.1
CHErol &k TH 100.0 - 10.5 58.2 17.2 141
= N 100.0 - 10.9 60.4 15.0 13.6
o4 N 100.0 - 10.0 55.8 19.6 14.6
FHHOEL
ot = 100.0 2.8 10.9 65.5 1.4 9.4
2 = 100.0 3.6 14.0 64.6 10.0 7.8
£ o = 100.0 2.4 12.8 59.1 14.2 11.4
o 28a &S
1008+ 0OI gt 100.0 2.2 12.2 62.0 12.7 10.8
100 ~ 2002+& OI&t 100.0 5.7 15.4 61.5 7.7 9.6
200 ~ 3002+& Ot 100.0 5.6 14.6 63.9 9.1 6.7
300 ~ 4002+ 012t 100.0 2.2 15.2 65.4 10.5 6.7
400 ~ 5002+ 012t 100.0 1.8 12.0 67.9 10.7 7.7
500 ~ 6002+ 012t 100.0 2.3 8.0 68.0 13.1 8.6
6008HA 0l&f 100.0 1.2 5.3 63.1 15.5 156.0
=1 X, E, 0, WEH(W), sk (A2 Aol THEt M= I+



| —
13-2. A¥°] TCHO = 1S =S
(EH21: %)
e e | XS oo |ZE ETBON| a0l
R == == =g TS S AERcz | nus JIEt
= mogpe | IHEE )T oaim g ol s
<2014>
= = 100.0 46.7 37.5 2.0 10.87 2.3 0.6
<2016>
& 2 100.0 51.1 38.6 3.2 4.0 2.7 0.3
T AE =) 100.0 51.1 38.3 3.3 4.0 2.9 0.4
=o|&(S0i) 100.0 51.2 40.6 2.5 3.6 2.1 -
o X 100.0 51.4 38.3 3.5 3.9 25 0.4
o Xt 100.0 50.8 39.0 2.9 41 3.0 0.2
x9S N 100.0 54.7 36.1 3.2 3.9 18 0.3
o X 100.0 53.6 38.0 3.0 3.3 17 0.5
o Xt 100.0 55.9 34.2 3.5 45 19 -
CHetolal 100.0 47.4 421 2.6 3.8 3.8 0.3
o Xt 100.0 48.8 39.4 3.5 43 3.7 0.4
o X 100.0 45.9 44.9 17 3.4 4.0 0.2
EPROIEG
ot = 100.0 49.0 415 2.8 41 25 0.2
. = 100.0 55.5 34.8 3.0 3.4 3.0 0.2
2 o = 100.0 48.1 33.8 6.8 5.6 3.8 19
Jimol BEA AS
1002+ O] ot 100.0 50.5 39.4 47 2.2 3.3 -
100 ~ 2008t Ojg* 100.0 56.9 35.5 2.0 3.9 15 0.2
200 ~ 3009+8l O] ot 100.0 48.5 38.9 4.0 44 3.3 0.9
300 ~ 4008t Dj2t 100.0 51.7 39.6 3.1 3.7 16 0.4
400 ~ 5008+l DBt 100.0 52.2 38.8 3.1 3.4 25 -
500 ~ 600BHE DBt 100.0 51.8 36.7 3.6 44 2.9 0.5
6008 0] AF 100.0 47.9 39.9 2.3 5.6 43 0.0
= 1) ThEH@AEH 0/8)'014 DRES 2O o= state)
2) 20142 'St g XHEHGl=E ALRIERD] HE2'0IAS
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13-3. 222 ®q I L& £Z=(30M °1%)

(EH2l: %)
) nI=X-ml hst(m) W) Chat V!
Hl o s (49 R DI9H | (4=H 04 (4 AH) (EFAH)
<2014>
H = 100.0 0.9 75 70.9 9.3 1.3
<2016>
H = 100.0 1.0 8.1 728 8.2 9.9
= AE 9 100.0 1.0 7.6 72.8 8.6 10.1
SolE(geR) 100.0 1.4 10.9 72.8 5.7 9.1
n it 100.0 1.2 7.9 73.8 7.7 9.4
of Xt 100.0 0.9 8.3 71.7 8.6 10.5
%= 0 5 100.0 3.1 14.3 68.9 5.4 8.3
= = 100.0 2.0 13.6 73.7 3.6 7.1
2 = 100.0 1.2 13.2 735 5.2 7.0
o= ol Ao 100.0 0.7 3.1 702 1.2 12.7
=ANpEG
o = 100.0 0.6 5.6 72.3 10.8 10.7
= = 100.0 0.9 9.7 74.1 6.1 9.3
2 o = 100.0 3.2 11.9 70.0 5.4 95
Jtpel AWR AS
1002+ 0] 0F 100.0 41 10.4 725 5.2 78
100 ~ 2002+l 0] 2F 100.0 2.3 13.8 70.1 5.2 8.6
200 ~ 3009+ 0| 100.0 1.4 12.8 72.9 6.3 6.5
300 ~ 4008+ 0|2t 100.0 0.6 7.8 771 6.5 8.0
400 ~ 5000+ 0| 100.0 0.6 6.9 75.2 6.8 10.6
500 ~ 60002 0/ 100.0 0.4 4.7 72.6 9.6 12.7
6002+ 0] At 100.0 07 08 66.2 15.4 14.9
1) 2,5,0,018H (1), CHsrA (A -BEAH O THE, S8 ME=Sel It Us 222
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13-4, B22] ®*[q T[Ef & S|™(30M ©17)

QA0 | BS NYUS || o L pey ZE AT | 220 eX
W | mesew | s MHESSH e | eams | ow
solsis | sioid | SEME | gam e | =y
<2014>
8 = 100.0 7.8 46.9 38.1 6.2 0.7 0.2
<2016>
8 = 100.0 6.2 46.7 39.2 7.0 0.5 0.3
E AE 9 100.0 6.2 46.7 39.0 7.4 0.4 0.3
S01=(S01) 100.0 6.5 46.8 40.0 5.4 1.0 0.3
TR 100.0 6.4 46.1 39.2 7.4 0.5 0.3
o W 100.0 6.1 47.3 39.1 6.7 0.5 0.3
= =0 o 100.0 6.6 53.1 29.6 47 6.0 -
z = 100.0 6.6 54.9 25.9 9.2 3.2 0.1
2 = 100.0 5.7 50.3 36.1 7.0 0.6 0.3
o= ol & 100.0 6.7 42.7 43.1 7.0 0.1 0.4
FBNpEE

B = 100.0 7.0 43.4 42.4 6.6 0.4 0.3
v = 100.0 5.8 48.3 37.8 7.1 0.6 0.4
2 o = 100.0 48 53.4 32.0 8.6 0.8 0.3

EETEPE
f008¢e! 0jgt 100.0 8.2 52.1 30.8 7.2 1.7 -
100 ~ 20088 0/2t 100.0 6.5 52.3 34.3 5.4 0.9 0.7
200 ~ 3008+l 0|2t 100.0 6.3 49.6 35.9 7.2 0.6 0.4
300 ~ 4008+l |2t 100.0 6.4 47.1 38.9 6.7 0.6 0.3
400 ~ 5008+l |2t 100.0 5.6 45.4 40.8 76 0.2 0.5
500 ~ 6008+l 0|2t 100.0 6.9 42.4 41.6 8.7 0.1 0.2
6008H2! 014 100.0 5.8 42.8 44.3 6.5 0.6 0.0

ZF 1) RES 'St (w) (49 /MOIeH 014 WEAlIIIHD ot 22

- 85 -



soul =2)
" O1=)e (é*IE}HE.’ s, | o Ofﬁﬁa ==
= YVHE S) | "
<2014>
& = 100.0 63.0 1.2 7.6 17.7
<2016>
& 2 100.0 58.0 10.7 6.4 24.7
= ANE ) 100.0 58.2 1.4 6.3 24.0
S0HE(SHR) 100.0 56.8 5.8 6.6 29.8
it T 100.0 60.1 10.3 5.4 23.9
o T 100.0 55.4 11.3 7.6 25.7
CHst(4= M 012 100.0 57.8 1.1 8.8 21.9
it T 100.0 60.0 12.2 8.4 19.0
o T 100.0 54.5 9.5 9.5 26.4
CHst (4 H 01 4) 100.0 58.2 10.5 5.2 26.0
it T 100.0 60.2 9.2 3.9 26.4
o T 100.0 55.7 12.0 6.8 25.4
FaNUEL
or = 100.0 62.2 8.1 5.4 24.2
= s 100.0 55.6 12.2 7.4 24.5
g o = 100.0 45.0 18.9 8.0 27.6
b7 FER A4S
1002+l Ojer 100.0 52.9 9.5 6.0 31.7
100 ~ 2008te Ojgt 100.0 36.7 18.9 6.5 37.4
200 ~ 3002+& O] &t 100.0 50.6 10.8 6.3 31.9
300 ~ 4008+&l Dlet 100.0 57.8 8.6 7.8 25.8
400 ~ 5008+l Dlet 100.0 64.7 13.3 3.8 18.2
500 ~ 6002+& O] &t 100.0 70.2 9.2 5.5 14.8
60082 0l 4t 100.0 72.6 6.1 8.5 12.5
F 1) Leta(Rata e
2) &t =elol tEs 2olg
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_— Al AF -7}

16-1. J1=H|O| CHEt 21A1 (30AM] Oy TIFE
CHRl: %)

y [FEMEH £ g < |FgAYX
dedtm | Al san e o | TS | Ol g 2| & s
<2014>
& 2 100.0 334 100.0 693  27.0 423 231 76 6.1 1.4
<2016>
x 2 100.0 33.0 1000 653 278 375 280 67 55 12
= NE 2 100.0 346 1000 660 281 378 276 64 53 11
=0{E(S0e) 100.0 256 1000 61.1 256 355 306 83 70 13
o X 100.0 375 100.0 644 265 379 288 68 56 1.2
o4 T 100.0 201 1000  69.7 345 352 240 63 53 1.0
30 ~ 39AI 100.0 234 1000 569 17.3 396 341 90 76 14
40 ~ 494 100.0 69.8 100.0 672 284 388  27.0 58 5.1 0.8
50 ~ 59A 100.0 429 1000 651 802 349 275 73 60 14
60 Al Of At 100.0 33 1000 642 269 372 295 63 2.1 42
x = 0l 5 100.0 37 1000 666  40.1 265  26.2 72 53 1.9
= = 100.0 13.6 1000 69.6 864 332  18.0 124 92 32
) = 100.0 372 1000 693 322 371 253 54 48 07
oE ol A 100.0 484 1000 617 232 385 311 72 58 14
e e 100.0 504 100.0 612 220 393 319 69 59 09
A o 100.0 535 100.0 641 223 418 285 74 63 141
e 100.0 39.6 1000 676 301 375  26.0 64 54 11
= o o 100.0 143 100.0 632 267 365  29.2 76 62 14
NsLw o 100.0 36.0 1000 685 334 351 250 66 55 1.1
iR FER AS

1000kl Ojgr 100.0 61 1000 683 375 308 257 59 28 3.1
100 ~ 2008t Ol2t | 100.0 195 1000 765 408 357  17.7 57 47 14
200 ~ 3008+& T8 | 100.0 325 1000 722 349 373 234 45 35 09
300 ~ 4009+ 0[BF | 100.0 457 1000 656 289 367 294 50 44 06
400 ~ 5008 018 | 100.0 528 100.0 641 224 417 291 67 55 1.2
500 ~ 6008 OB | 100.0 571 1000 59.4 205 389 329 77 64 13
60022 0] 4t 100.0 60.4 1000 529 16.8 361 353 1.8 101 17
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(21 %)
_ w2 D=yl oI Bh% X3
1 = Fo| S 8=
A U EES | (may =) 3t ) 3% At ) E
<2014>
2 = 100.0 31.6 62.6 .1 4.3 0.4
<2016>
2 = 100.0 30.0 62.1 .1 6.7 0.1
c AE F 100.0 30.0 63.1 1.0 5.7 0.1
sojE(ges 100.0 29.6 55.3 1.5 13.7 -
X 100.0 28.5 64.0 0.9 6.6 0.1
o X 100.0 37.3 52.8 1.9 7.5 0.5
30 ~ 39H 100.0 5.4 92.8 0.6 1.2 -
40 ~ 49 M 100.0 20.9 74.2 0.6 4.0 0.2
50 ~ 59 A 100.0 48.8 37.3 1.9 12.1 -
60 M I & 100.0 57.7 26.8 1.5 14.1 -
x =08 100.0 43.7 46.5 0.6 9.1 -
= = 100.0 46.7 4.3 1.5 8.8 1.6
2 = 100.0 33.9 57.9 1.0 7.1 0.1
LR 100.0 24.4 68.4 .1 6.1 -
B2 ae 100.0 24.3 67.8 1.5 6.1 0.4
A e 100.0 25.4 68.3 0.8 5.1 0.3
Kbl 2 B Of 100.0 28.2 64.1 R 6.6 -
s o ¢ 100.0 43.2 36.9 3.0 16.9 -
NsL e 100.0 34.9 57.9 0.6 6.5 -
Jbmol BHR AS
1002t Djot 100.0 42.0 49.9 1.5 6.6 -
100 ~ 2002¢8 Djo* 100.0 34.7 55.8 1.6 7.3 0.6
200 ~ 3000+2l 0/2t 100.0 32.0 60.2 0.5 7.0 -
300 ~ 4000+2 O]9t 100.0 25.9 66.5 0.8 6.5 0.2
400 ~ 5000+2 0/t 100.0 30.1 63.3 0.5 6.1 -
500 ~ 6002HRl O]9t 100.0 27.6 64.1 1.0 7.3 -
6000+ 0/ 100.0 26.2 65.2 24 6.2 -
ZF 1) SMTEDE U= 30A Ol D123 = 'AHH WSHIJF BEAZECHD €8 1Y



X7 al X7
16. 1% 7210 FEE X 0IFH °I%
(S=1: %)
_ . Ay
A" EZE |08F | 4 ZHA | st | AEAD, | 222 ot g _“,;4 I &
= e w0 | 2eRy aaga| S8 | G
<2014>
& = 100.0 50.2 49.8 100.0 53.4 2.1 13.6 19.3 8.9 1.1 1.7
<2016>
& = 100.0 53.7 46.3  100.0 53.6 2.2 13.5 18.1 9.4 1.1 2.0
S ANE 2 100.0 55.9 441 100.0 541 2.1 14.5 17.4 8.9 1.0 2.0
sSHE(ESHR) 100.0 43.6 56.4 100.0 52.2 2.6 9.8 20.6 11.3 1.6 1.9
=1 Xt 100.0 58.5 41.5 100.0 59.7 2.0 18.7 6.2 10.0 1.3 2.2
o Xt 100.0 49.2 50.8 100.0 49.0 2.4 9.4 27.3 9.0 1.0 1.9
13 ~ 29Al 100.0 72.6 27.4 100.0 44.7 4.1 33.7 4.2 5.8 2.0 5.5
30 ~ 39Al 100.0 721 27.9 100.0 50.6 1.1 26.8 6.6 9.7 1.4 3.7
40 ~ 49A 100.0 61.5 38.5 100.0 50.4 1.4 26.4 10.8 7.7 1.4 1.8
50 ~ 59Al 100.0 47.2 52.8 100.0 59.6 1.8 9.7 16.0 10.7 1.3 0.8
60 Al Ol & 100.0 29.5 70.5 100.0 541 2.8 2.1 28.7 10.1 0.7 1.6
65 Al Ol & 100.0 26.5 73.5 100.0 52.0 2.9 1.2 31.4 9.9 0.6 2.0
o8 F 2 100.0 76.9 23.1  100.0 54.6 2.4 19.8 6.7 1.4 0.4 4.7
At < 100.0 72.9 27.1  100.0 55.5 1.7 20.9 7.8 11.9 0.4 1.9
A IO 100.0 55.0 45.0 100.0 49.8 2.4 20.2 15.2 9.7 0.8 1.8
s o g 100.0 25.3 74.7 100.0 57.6 2.9 3.3 221 11.4 1.5 1.2
s kt® 100.0 45.8 54.2 100.0 58.7 1.6 15.4 12.3 9.4 0.8 1.7
FEEOES
gt = 100.0 63.8 36.2 100.0 52.4 2.7 14.3 17.6 9.5 0.8 2.6
2 = 100.0 50.3 49.7 100.0 53.4 2.0 13.4 18.9 9.3 1.2 1.9
= & = 100.0 37.3 62.7 100.0 56.2 2.0 12.5 16.8 9.6 1.5 1.4
hPol BHR AS
1002+ O] et 100.0 28.4 71.6 100.0 54.8 2.7 3.3 27.2 8.4 2.0 1.6
100 ~ 2008+& 012t 100.0 43.4 56.6  100.0 56.0 2.3 10.7 18.3 9.9 1.2 1.8
200 ~ 3002+ OI8H 100.0 53.8 46.2  100.0 53.9 2.4 17.3 14.6 9.1 1.0 1.8
300 ~ 4002t& 012t 100.0 60.2 39.8 100.0 52.7 2.1 18.7 13.6 9.7 1.0 2.1
400 ~ 5002+ 012+ 100.0 62.5 37.5 100.0 51.5 1.5 21.2 15.2 8.0 0.4 2.1
500 ~ 6002+ 012t 100.0 67.7 32.3 100.0 51.3 2.1 16.8 15.8 10.5 0.5 2.9
6002+ 0] & 100.0 73.6 26.4 100.0 47.6 1.5 17.3 16.1 13.5 0.5 3.4
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17. M3 I30] 1=
91t %)
A" o x| 0f < 2 X 2 = =1=1by 2 I ol
x| ot= ® = H s
<2014>
S| = 100.0 36.9 15.4 21.5 25.1 38.0 23.4 14.6
<2016>
S| = 100.0 36.3 15.3 21.0 25.4 38.3 23.4 14.9
T AE = 100.0 36.9 15.7 21.3 25.6 37.5 23.1 14.4
SoHE(SHE 100.0 32.1 12.5 19.5 24.1 43.9 25.3 18.5
= Xt 100.0 35.4 13.6 21.8 26.7 37.9 22.9 15.0
ol Xt 100.0 37.4 17.3 20.2 23.8 38.8 24.0 14.8
13 ~ 29Al 100.0 41.3 18.6 22.7 23.9 34.9 19.5 15.4
30 ~ 39l 100.0 36.0 15.5 20.4 26.0 38.0 23.4 14.6
40 ~ 49K 100.0 35.0 14.3 20.8 24.9 40.1 24.3 15.8
50 ~ 59A 100.0 34.3 13.2 21.1 25.0 40.7 25.1 15.6
60 Al Ol &t 100.0 36.2 15.6 20.6 28.5 35.2 24.2 11.0
65 Al 0 & 100.0 37.9 17.2 20.8 28.9 33.2 22.1 11.1
Sdsns 100.0 21.1 5.8 15.3 24.6 54.3 32.0 22.3
CH3H(m)(4E HIDI o) 100.0 32.6 13.4 19.2 25.3 42.0 25.4 16.6
CH &t (4 RIO] AF) 100.0 42.3 18.1 24.2 26.9 30.8 19.4 1.4
WS 100.0 71.0 40.3 30.7 19.8 9.2 7.0 2.2
e e 100.0 62.3 33.2 29.0 20.3 17.4 11.1 6.3
A e 100.0 35.7 10.9 24.9 31.1 33.1 20.6 12.5
A HIA B 100.0 17.0 5.5 1.6 24.7 58.3 34.7 23.6
5 o o 100.0 24.3 8.6 15.8 21.4 54.3 35.0 19.3
s &« 100.0 22.1 5.9 16.2 22.7 55.2 31.2 24.0
ool PR A4S
1008+l 08F 100.0 25.2 7.7 17.5 26.8 48.0 29.1 18.9
100 ~ 2009+ 0] 8F 100.0 26.2 9.3 16.8 27.0 46.9 27.8 19.0
200 ~ 3008+ 0| gt 100.0 28.4 11.1 17.3 26.3 45.4 27.0 18.3
300 ~ 4002+ 0] 100.0 35.1 14.8 20.3 25.1 39.8 25.0 14.8
400 ~ 5008+2l 0] 100.0 39.5 16.1 23.3 25.8 34.7 20.5 14.2
500 ~ 6000+ 0|2t 100.0 43.0 18.9 24.1 25.4 31.5 20.4 11.1
600242l 0] At 100.0 53.4 26.0 27.4 22.2 24.4 15.7 8.7

=11) te(), S48

A, A

e
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0 04 At
18. B2 o451 208 &9 (30M °IY)
el %)
o &0/51X
A" 2O | gus ooz | =S A &5
<2014>
@ 0= 100.0 26.7 5.1 21.6 14.3 59.0 32.3 26.7
<2016>
8 0= 100.0 29.1 5.7 23.4 21.0 49.9 32.0 17.9
E NE ) 100.0 28.8 5.2 23.7 21.1 50.1 3.1 18.0
SoIE(eR) 100.0 30.5 8.3 22.3 20.7 48.8 31.3 17.5
TR 100.0 16.9 3.2 13.7 19.2 63.9 38.2 25.7
o X 100.0 40.9 8.0 32.9 22.8 36.2 26.0 10.2
30 ~ 394 100.0 44.7 9.1 35.6 23.6 31.6 21.9 9.8
40 ~ 494 100.0 275 5.4 22.1 20.1 52.4 34.1 18.3
50 ~ 594 100.0 175 2.7 14.7 20.2 62.3 36.7 25.7
60 M Of &t 100.0 9.4 - 9.4 34.2 56.4 35.3 21.2
= %0 5 100.0 1.9 1.2 10.7 21.8 66.3 35.5 30.8
s = 100.0 14.9 2.2 12.7 17.0 68.1 35.7 32.4
2 = 100.0 24.6 4.7 20.0 20.8 54.5 34.6 20.0
o = ol & 100.0 34.1 6.8 27.3 21.4 44.5 29.6 14.9
Roo FEE =G
B o= 100.0 34.9 7.6 27.3 21.1 44.0 28.4 15.6
v = 100.0 25.7 4.3 21.5 21.3 53.0 34.5 18.5
2 o = 100.0 19.0 3.2 5.7 19.9 61.2 36.8 24.4
Jhmo BB AS
1008H2! Dot 100.0 18.6 3.6 5.0 25.3 56.1 33.4 22.7
100 ~ 2008H2 DIBH | 100.0 19.9 3.3 16.5 20.1 60.0 36.5 23.5
200 ~ 3002t DIgF | 100.0 25.0 5.6 19.4 20.9 54.1 34.4 19.7
300 ~ 4002t D12t | 100.0 31.1 45 26.6 20.5 48.5 30.1 18.4
400 ~ 50022 D12t | 100.0 29.6 7.0 22.7 21.3 49.1 3.1 6.0
500 ~ 6002t DIgF | 100.0 32.2 6.7 25.4 20.0 47.8 34.2 13.6
6002+ Ol 100.0 36.8 7.0 29.8 22.1 411 25.5 5.5
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fm eSS THA O s
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19. X+ S =19 EHEF 29 (30M| ©|4)
(21 %)
TESS Asts 019
" NI A |
_ Y E S27 [ ARS os | &
oY il ;?EEL ‘1*;% %im ;Eliﬂ IHogiT IEIILJ? 251K ==
A | e |HHAS g oy | SOW HESE i mas | ge | ) | Tys | 28
o | NS EME o famss| DEE | U5 | 6 | ¥8
N - = Iz = = =
QA oy | OERBETE] 455 |soiu
/5 A
<2014>
& = 100.0 556 100.0  15.7 447 110 43 231 09 02 271 173
<2016>
= 2 100.0 574 100.0  19.2 430 78 43 246 11 01 302 124
= ANE 2 | 1000 584 1000 196 441 73 41 236 11 01 298 11.8
=0lZ(SP%) | 1000 51.8 1000 164 3.2 104 55 305 09 00 324 158
o b | 1000 547 1000 184 443 84 38 240 10 01 330 123
04 X | 1000 599 1000  19.8 419 72 48 250 12 041 275 125
=05 | 1000 350 1000 68 496 40 116 280 - - 466 184
= = | 1000 353 1000  13.8 36.0 134 99 270 - - 453 194
2 = | 1000 51.8 1000  19.3 383 83 50 272 18 01 339 143
=0l & | 1000 646 1000 195 465 73 35 226 06 01 254 10.0
He2 g 100.0 650 100.0  20.1 453 71 38 227 07 03 256 9.4
A 2 | 1000 606 1000  21.3 463 78 30 205 12 - 282 112
AbIA B O 100.0 591 100.0  18.0 430 77 54 245 14 01 282 127
= o ¢ 1000 419 1000 7.7 324 100 97 401 - - 384 197
Aswee | 1000 494 1000 171 416 93 46 261 13 00 365 14.1
EBHOEC
ot = | 1000 580 1000  18.0 443 70 37 261 09 01 308 11.3
o = | 1000 565 1000  19.8 415 90 53 231 12 01 300 135
2 o = | 1000 57.9 1000 215 435 65 35 236 13 01 292 12.9
7o BER AS
100821 012 | 100.0 453 100.0  20.3 453 50 68 196 3.0 - 403 144
100 ~ 20002 0I2f 100.0 487 100.0  15.8 39.1 106 49 291 06 - 369 144
200 ~ 3008k 018 100.0 52.2 1000  18.8 404 76 48 259 21 03 333 145
300 ~ 4002+ 0194 100.0 57.1 1000  19.6 434 79 49 230 11 02 309 12.0
400 ~ 50002 0i2f 100.0 59.4 1000  20.7 420 9.1 37 236 09 - 296 11.0
500 ~ 6002+ 0194 100.0 627 100.0  20.0 444 78 52 220 06 - 252 12.
6002r%1 014 | 100.0 65.3 100.0  18.4 46.7 55 27 262 05 - 242 106
F ) SEM(THEM, SstM ZEHTEI e 22
2) SOl THHDF U E B2 E NH |85 2sts AFEY
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OFE Al X A 01(6~8A12H) o ) A2AAZ
N ok | oo NETE5Y N S - BTN
=13 =13 St St
BIL =0} HED ) oy BIC = BIC =
<2014>
& = 70.1 29.9 76.1 23.9 36.9 63.1 58.3 47
<2016>
& = 67.2 32.8 7.2 22.8 38.0 62.0 60.7 39.3
= AE B 65.8 34.0 76.5 23.5 38.6 61.4 59.8 40.2
=02 (2p) 74.3 25.7 80.2 19.8 35.2 64.8 65.1 34.9
o Xt 66.0 34.0 773 22.7 413 58.7 60.7 39.3
o Xt 68.5 315 77.0 23.0 34.9 65.1 60.7 39.3
13 ~ 194l 67.6 32.4 70.9 291 35.0 65.0 32.7 67.3
20 ~ 29 A 447 55.3 73.0 26.8 35.7 64.3 28.9 711
30 ~ 394 48.8 51.0 744 25.6 30.6 69.4 53.9 46.1
40 ~ 49 A 65.9 34.1 76.8 23.2 34.6 65.4 67.9 32,1
50 ~ 594 76.8 03.0 80.7 19.3 42.4 57.6 76.0 24.0
60 Al O] &t 89.7 10.3 81.9 18.1 45.9 54.1 79.9 20.1
65 Al 0] &t 915 8.5 81.6 18.4 46.4 53.6 79.6 20.4
x =0l o 86.1 13.9 79.7 20.3 36.9 63.1 68.7 313
= = 77.5 22.5 74.9 25.1 36.9 63.1 60.1 39.9
) = 62.9 37.1 76.7 23.3 36.6 63.4 55.9 44 1
H & 0] & 60.5 39.5 77.4 22.6 40.4 59.6 62.8 37.2
M2 59.8 40.2 75.7 24.3 40.6 59.4 66.5 33.5
At o 56.7 43.3 771 22.9 36.5 63.5 70.0 30.0
K A 0 57.0 43.0 74.3 25.7 33.6 66.4 58.0 42.0
= of o 92.8 72 86.0 14.0 28.6 714 76.8 23.2
Ns L e 68.3 31.7 77.9 221 33.1 66.9 64.6 35.4
0l k=3 52.6 47 .4 71.9 28.1 35.9 64.1 35.6 64.4
BI2X US 73.5 26.5 80.7 19.3 39.5 60.5 72.3 27.7
At =] 83.4 16.6 75.8 24.2 38.5 61.5 72.7 27.3
0l k=3 58.5 41.5 68.0 32.0 32.5 67.5 61.0 39.0
Jmo YW AS
1002+ O]t 75.8 040 743 25.7 37.8 62.2 62.2 37.8
100 ~ 2008t D2t 67.5 325 773 22.7 35.7 64.3 59.3 407
200 ~ 3002+ 0] ot 64.2 35.8 7.4 22.6 35.9 64.1 56.5 435
300 ~ 4002+ O] ot 64.6 35.4 78.2 218 37.8 62.2 58.7 413
400 ~ 5002+ 0] ot 65.9 34.1 772 22.8 39.4 60.6 62.1 37.9
500 ~ 6002+ O] Bt 67.4 32.6 775 225 44 58.6 65.1 34.9
6002 O] A 68.4 316 7.6 22.4 42.4 57.6 67.4 32.6
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N ZIT (19M1 °19)

—_
Et2l 1 %)
bl o =" . 10048l _ 210081 | otmg | o noio | L2H
EN| 0 5 11~20018l 0 A & H | BAS o =
<2014>
& = 100.0 22.7 100.0 48.7 46.1 5.2 77.3 100.0 22.3 .7
<2016>

o = 100.0 20.8  100.0 51.4 43.3 5.3 79.2  100.0 23.2 76.8
T AMES 2 100.0 20.7  100.0 52.7 42.5 4.8 79.3 100.0 22.8 77.2
sSHE(ESHR) 100.0 21.3 100.0 45.5 47.0 7.4 78.7 100.0 24.9 75.1
=1 At 100.0 39.1  100.0 491 45.3 5.6 60.9 100.0 53.2 46.8
o Xt 100.0 3.1 100.0 79.8 18.8 1.5 96.9 100.0 5.0 95.0
19 ~ 29A 100.0 19.9 100.0 67.4 30.9 1.7 80.1  100.0 10.5 89.5
30 ~ 39Al 100.0 25.9 100.0 55.3 39.8 4.9 74.1 100.0 20.4 79.6
40 ~ 49A 100.0 26.4 100.0 44.0 50.0 6.0 73.6  100.0 241 75.9
50 ~ 59Al 100.0 22.2 100.0 441 48.4 7.5 77.8 100.0 27.7 72.3
60 Al O & 100.0 11.5  100.0 50.9 43.7 5.4 88.5 100.0 29.4 70.6
65 Al O &f 100.0 8.6 100.0 59.3 35.9 4.8 91.4 100.0 29.2 70.8
= & 0| ot 100.0 11.0 100.0 46.2 46.3 7.5 89.0 100.0 19.8 80.2
= ES 100.0 19.4  100.0 42.8 491 8.1 80.6 100.0 28.0 72.0
il ES 100.0 24.8 100.0 51.0 43.2 5.8 75.2 100.0 23.0 77.0
th & 0l & 100.0 20.2  100.0 54.8 41.5 3.6 79.8 100.0 23.5 76.5
o =22 el 100.0 20.5 100.0 556.5 40.8 3.7 79.5 100.0 25.8 74.2
At < 100.0 23.1 100.0 521 43.4 4.5 76.9 100.0 24.5 75.5
A HI A BHOH 100.0 23.5 100.0 56.1 39.5 4.4 76.5 100.0 19.9 80.1
s 0o ¢ 100.0 18.1  100.0 38.0 50.8 1.2 81.9 100.0 32.3 67.7
s k? 100.0 36.0 100.0 44.8 48.4 6.9 64.0 100.0 38.0 62.0

e EEd A5
100 @+ OJ et 100.0 15.6  100.0 52.1 43.0 4.9 84.4 100.0 22.8 77.2
100~2008H2 0| gt 100.0 21.9 100.0 50.5 44.4 5.1 78.1  100.0 22.9 771
200~3008H 0| et 100.0 24.5 100.0 50.9 43.5 5.6 75.5 100.0 23.4 76.6
300~4008+H& 0| &t 100.0 22.8 100.0 50.8 43.2 6.0 77.2 100.0 24.0 76.0
400~5002+& 0]t 100.0 20.0 100.0 55.5 40.0 4.5 80.0 100.0 23.5 76.5
500~6008+H& 0|8t 100.0 18.4 100.0 47.3 46.0 6.7 81.6 100.0 23.0 77.0
6002HA 0l & 100.0 17.6  100.0 52.4 43.6 4.0 82.4 100.0 22.4 77.6

1) ZAMJIEY €1 ESETY
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— —_— alr = (o] AL
21-2. =03 Al o B! =P30] o122 OIS (19M] ©O|~)
SEREA)
ZoAE o 2010 02 01
Asaa | HE AROL| 3 & | D10
HP QU CH | g o H? 2 IR mRD| SHOH | med Jl Et
= A0 A MM | B2 me
<2014>
& =2 100.0 47.2 52.8 100.0 51.0 4.9 4.9 38.9 0.3
<2016>
& =2 100.0 50.4 49.6 100.0 55.1 4.9 7.2 32.4 0.5
T AE B) 100.0 50.8 49.2 100.0 55.5 5.0 6.9 32.3 0.4
SHE(SHE) 100.0 48.8 51.2 100.0 53.4 4.6 8.5 32.8 0.7
o X 100.0 50.6 49.4  100.0 54.8 5.0 7.5 32.2 0.5
of Xt 100.0 48.3 51.7 100.0 58.8 3.9 3.2 34.0 -
19 ~ 29Al 100.0 47.5 52.5 100.0 47.9 9.7 6.7 35.3 0.4
30 ~ 39Al 100.0 51.5 48.5 100.0 64.7 3.3 4.8 27.1 -
40 ~ 49Al 100.0 51.6 48.4 100.0 64.7 3.3 5.1 26.8 0.1
50 ~ 59A 100.0 51.2 48.8 100.0 53.1 3.7 8.5 34.0 0.7
60 Ml O &t 100.0 48.7 51.3 100.0 29.6 7.5 141 47 1 1.7
65 Ml 0| &t 100.0 45.9 541 100.0 26.8 8.2 13.7 50.3 1.0
% = 0| & 100.0 47.3 52.7 100.0 39.6 6.9 9.6 4.5 2.4
= = 100.0 47.5 52.5 100.0 41.3 5.8 12.0 39.9 1.1
Il = 100.0 49.7 50.3 100.0 55.7 5.8 6.5 31.8 0.2
o=ola 100.0 52.6 474 100.0 59.7 3.4 6.6 30.1 0.3
e e 100.0 53.0 47.0 100.0 61.4 2.6 7.7 28.3 =
Ab e 100.0 52.8 47.2 100.0 60.4 3.6 6.9 29.1 0.1
A1 HI A B 100.0 49.2 50.8 100.0 53.8 3.4 6.3 36.4 -
s o o 100.0 43.6 56.4  100.0 44.4 6.6 15.1 33.5 0.5
skt e 100.0 49.9 50.1 100.0 58.9 5.3 5.5 29.9 0.4
bR FER AS
100 PHR Ol 0t 100.0 45.4 54.6 100.0 41.2 7.3 13.3 36.6 1.7
100~2002+2! O] o 100.0 48.2 51.8 100.0 51.8 4.8 7.3 35.5 0.6
200~3002+2 02 100.0 51.0 49.0 100.0 54.0 4.0 4.8 36.5 0.7
300~4002+2 0|2t 100.0 52.9 471 100.0 58.6 5.7 6.9 28.8 0.0
400~5002+2 0] o+ 100.0 49.4 50.6 100.0 62.0 3.5 8.7 25.8 =
500~6002+2 O] 2t 100.0 47.8 52.2 100.0 57.8 3.0 5.4 33.8 -
6002HR O] A 100.0 57.7 42.3 100.0 59.6 7.1 6.7 26.5 0.1
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22-1. &F X &FL4 (19AM] °17)

(SH2l @ %)

o= - = ot OtA

H == A 7 §1%| = == = Hel |Hg= A Y oLt 25

0l ot |2~33 | 1~23| | 3~43| | O Ho o=

<2014>
o = 100.0 64.6 100.0 26.8 29.3 28.3 10.7 5.0 35.4 100.0 42.8 57.2
<2016>
| = 100.0 65.4 100.0 26.0 29.7 28.1 11.8 4.9 34.6 100.0 42.0 58.0
T AMEs =7 100.0 67.2 100.0 26.5 29.9 27.9 11.3 4.4 32.8 100.0 42.6 57.4
sHE(SHE 100.0 57.3 100.0 23.0 28.7 29.0 11.8 7.5 42.7 100.0 39.9 60.1
=1 Xt 100.0 79.0 100.0 16.3 28.0 33.0 15.4 7.4 21.0 100.0 60.4 39.6
o Xt 100.0 52.3 100.0 401 32.3 20.9 5.4 1.3 47.7 100.0 34.2 65.8
19 ~ 29Al 100.0 78.7 100.0 28.9 37.4 25.2 7.3 1.1 21.3  100.0 39.9 60.1
30 ~ 39l 100.0 77.4 100.0 26.0 29.5 31.3 10.4 2.7 22.6 100.0 48.8 51.2
40 ~ 49Al 100.0 74.9 100.0 23.8 28.3 30.0 18.2 4.7 25.1  100.0 46.6 53.4
50 ~ 59HAIl 100.0 64.6 100.0 24.2 26.5 27.9 13.4 8.0 35.4 100.0 41.2 58.8
60 Al Of &f 100.0 39.1  100.0 27.3 25.5 24.5 12.7 10.0 60.9 100.0 39.4 60.6
65 Al Of & 100.0 33.8 100.0 29.6 24.8 23.0 1.1 11.5 66.2 100.0 39.3 60.7
= £ 0| of 100.0 35.0 100.0 30.0 25.8 21.0 11.5 1.7 65.0 100.0 35.8 64.2
£ = 100.0 50.1  100.0 23.7 27.4 25.6 14.5 8.8 49.9 100.0 38.9 61.1
i = 100.0 69.7 100.0 25.2 29.4 28.7 1.7 5.1 30.3 100.0 44.0 56.0
& 0| & 100.0 74.9 100.0 26.4 311 29.0 10.5 3.0 25.1  100.0 46.4 53.6
0l = 100.0 78.5 100.0 27.0 35.4 27.6 8.4 1.7 21.5 100.0 39.5 60.5
i [ENIVE= 100.0 64.6 100.0 25.3 27.6 28.5 12.5 6.2 35.4 100.0 441 55.9
A | 100.0 29.6 100.0 38.3 26.5 21.2 9.0 5.0 70.4 100.0 33.3 66.7
0l = 100.0 67.1 100.0 19.5 25.6 30.1 16.4 8.4 32.9 100.0 50.6 49.4
&2 2 e 100.0 77.5 100.0 26.0 311 29.1 11.8 2.6 22.5 100.0 42.5 57.5
A 2 100.0 81.8 100.0 24 1 31.6 30.1 1.2 3.0 18.2  100.0 44.5 55.5
A Bl 2 EHOH 100.0 72.6 100.0 23.9 28.4 30.7 12.0 5.0 27.4 100.0 41.2 58.8
s 0 ¢ 100.0 50.3 100.0 18.2 25.4 27 1 14.8 14.5 49.7 100.0 39.9 60.1
s kR 100.0 73.4 100.0 18.8 26.6 31.0 15.3 8.4 26.6  100.0 48.2 51.8
1) AL 1 SO0t =2 8 & 0|4 DRl AL
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- 97 -

(et
HE SEAC 02 Hx.az0 ol2le 018
AEYA | ABIMEN | ZTE A
1) o] oH 2)
A oo oo A W o2 |zesAla & A F
<2014>
& 2 100.0 25.2 748 100.0 35.3 61.2 2.2
<2016>
| = 100.0 26.9 73.1 100.0 411 53.1 3.3
= AE B 100.0 276 72.4 100.0 405 53.8 3.2
=olE(zp) 100.0 23.6 76.4 100.0 444 49.0 4.0
o Xt 100.0 25.4 746 100.0 37.8 56.2 3.9 o1
o Xt 100.0 315 68.5 100.0 48.9 45.6 2.0 3.5
19 ~ 29l 100.0 24.3 757 100.0 38.9 58.2 13 16
30 ~ 394l 100.0 255 745 100.0 43.7 511 2.2 3.0
40 ~ 49A 100.0 08.7 713 100.0 471 49.3 25 12
50 ~ 59 Al 100.0 30.7 69.3 100.0 37.4 5.3 43 3.1
60 Al O] & 100.0 233 76.7 100.0 34.3 54.1 7.0 47
65 Kl 0] At 100.0 211 78.9 100.0 32.4 518 7.9 7.8
2 =0l 5 100.0 20.9 79.1 100.0 50.8 36.6 8.3 43
= = 100.0 30.3 69.7 100.0 375 53.2 5.3 4.0
2 = 100.0 28.0 72.0 100.0 43.0 52.6 2.7 18
TEE 100.0 261 73.9 100.0 38.5 5.7 2.9 28
&2 22 100.0 25.4 74.6 100.0 37.1 57.9 3.2 1.9
At £ 100.0 30.2 69.8 100.0 35.2 62.2 1.8 0.8
ANl A EHOH 100.0 28.5 71.5 100.0 47 .0 49.6 0.9 2.4
s O ¢ 100.0 16.9 83.1 100.0 37.5 50.8 8.1 3.6
skt 100.0 26.8 73.2 100.0 39.5 56.4 2.7 1.4
Sz
=1 ~23 100.0 25.5 74.5 100.0 38.8 57.7 1.6 1.9
=3~ 43 100.0 31.0 69.0 100.0 425 50.4 4.1 2.9
Hol g 100.0 25.5 74.5 100.0 50.4 34.1 10.4 5.1
) AL 11 S0 = 2ol



A = o< £ 2 BE0|0 LyeeCh L&
=0 HO|CH HO|IC}

<2014>

& =2 100.0 48.7 11.1 37.6 36.2 15.2 13.0

<2016>

& =2 100.0 471 10.2 37.0 37.8 15.1 13.1
T A(E B) 100.0 47.6 10.2 37.3 38.6 13.8 12.1
=SHE(SHR) 100.0 45.0 9.7 35.2 33.7 21.4 18.0
= N 100.0 51.3 11.9 39.4 36.6 12.2 10.5
of Xt 100.0 43.1 8.5 34.6 38.9 18.0 15.6
13 ~ 194l 100.0 74.8 27.2 47.6 22.4 2.8 2.5
20 ~ 29Al 100.0 63.9 18.3 45.7 30.4 5.6 5.3
30 ~ 39Kl 100.0 54.2 10.6 43.6 39.5 6.3 5.8
40 ~ 49 M 100.0 46.2 7.1 39.1 44.5 9.2 8.5
50 ~ 59 A 100.0 40.3 6.1 34.3 43.7 16.0 14.5
60 Ml O & 100.0 25.4 3.4 22.0 36.9 37.7 31.1
65 Ml 0 &t 100.0 22.3 3.1 19.2 34.2 43.5 35.5
x = 0| 5 100.0 29.8 8.6 21.1 30.0 40.2 33.1
= = 100.0 46.1 11.8 34.3 35.7 18.2 16.0
] = 100.0 46.4 9.7 36.7 41.4 12.3 10.9
o 0l & 100.0 55.4 10.7 44.7 37.9 6.8 6.2
ol = 100.0 63.3 18.6 44.8 30.4 6.2 5.7
HIRX AS 100.0 43.1 71 36.0 42 1 14.8 13.1
Ab = 100.0 18.6 2.3 16.3 32.4 49.0 39.5
0l = 100.0 33.2 4.9 28.4 39.8 27.0 22.0

<EN-SF HY Bt - 194 01ah>

s o X 100.0 45.3 8.8 36.5 41.3 13.4 1.8
H & o X 100.0 44.5 8.6 35.9 38.6 16.9 14.6
s = X 100.0 48.6 9.1 39.5 40.6 10.8 9.8
H & = & 100.0 37.2 7.6 29.6 36.4 26.4 22.0
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24. {52 (OM °1W)

(491 2 %, &)
ses" BD fuds B3R s
2012 | 2014 | 2016 | 2012 | 2014 | 2016 | 2012 | 2014 | 2016

& = 241 24.6 25.7 8.5 8.9 9.2 0.6 0.7 0.8

S AME ) 22.8 23.2 24.2 8.1 8.5 8.7 0.6 0.7 0.9

SHE(EHSR) 30.4 31.8 32.8 9.7 10.3 10.8 0.5 0.7 0.6

& ", 21.2 22.1 22.8 8.3 8.7 9.0 0.6 0.8 0.8

o4 N; 26.9 27.1 28.5 8.6 9.1 9.3 0.6 0.7 0.9

0~ 9A 26.2 27.4 24.2 5.0 4.9 5.0 0.2 0.6 0.4

10 ~ 194l 9.8 9.2 8.9 4.8 4.7 4.7 0.5 0.5 0.8

20 ~ 29Al 10.9 9.5 9.8 5.6 5.6 5.7 0.6 0.8 0.8

30 ~ 39Al 13.0 1.4 1.9 5.7 6.2 6.0 0.6 0.8 0.8

40 ~ 49A 17.6 16.3 17.1 7.5 7.5 7.2 0.8 0.8 0.8

50 ~ 59Al 29.7 28.9 30.7 9.0 9.0 9.2 0.7 0.6 0.8

60 Al Ol & 56.1 59.9 60.2 1.0 1.4 11.6 0.6 0.8 0.9

65 Al Ol & 60.9 65.2 65.9 1.2 1.7 12.0 0.6 0.8 1.0
otRel HHP 45

1002+ O] et 45.4 51.7 53.0 10.7 1.3 1.7 0.6 0.8 1.0

100 ~ 2002+ 0]t 25.4 29.3 31.9 9.0 9.3 101 0.7 0.8 0.8

200 ~ 3002+ 0|t 20.1 20.4 23.0 7.5 8.0 8.6 0.6 0.6 0.8

300 ~ 4002+ D] et 18.9 16.4 20.3 6.9 7.4 7.6 0.6 0.6 0.6

400 ~ 5002+ O]t 18.0 17.0 171 6.7 7.4 7.3 0.5 0.7 0.9

500 ~ 6002+ 0|2t 17.3 18.9 19.6 6.5 6.9 6.9 0.4 0.6 0.6

6002+3 Ol & 17.0 18.2 16.7 6.7 6.7 6.7 0.6 0.7 0.8

= -
-

C1) Xk 23 SOt OM Ol 2l B

PN
=

HOILt AlD2 Ot Mol ALt S
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25-1. 2I& AMH|A BISE

p] o= He | on | TS| oEES
<BBYA>

<2014>

2 = 100.0 54.5 18.8 35.7 33.4 12.1 10.8 1.4

<2016>

& 2 100.0 53.3 19.2 34.1 34.5 12.2 10.5 1.7
S NE 2) 100.0 51.7 17.8 34.0 35.3 13.0 1.2 1.8
soiz(ges) 100.0 59.5 24.9 34.6 31.4 9.1 7.5 1.6

o Xt 100.0 52.9 18.7 34.2 34.8 12.3 10.3 2.0

o Xt 100.0 53.8 19.8 34.0 34.1 12.0 10.6 1.4

<y

<2014>

3 = 100.0 47.9 1.7 36.2 44.8 7.3 6.8 0.5

<2016>

& 2 100.0 49.1 12.3 36.8 43.4 7.5 7.0 0.5
= ANE ®) 100.0 47.3 11.6 35.7 44.8 7.9 7.3 0.5
s0E(Se) 100.0 58. 1 16.0 42.2 36.1 5.8 5.4 0.3

o Xt 100.0 48.3 12.2 36.1 43.9 7.8 7.1 0.7

of Xt 100.0 49.8 12.4 37.3 42.9 7.3 6.9 0.4

<D YR >

<2014>

82 = 100.0 47.8 16.4 31.4 416 10.5 9.2 1.3

<2016>

2 = 100.0 49.0 13.4 35.5 40.8 10.3 8.1 2.1
= ANE ®) 100.0 48.5 12.8 35.7 41.0 10.4 8.1 2.3
s0E(Se) 100.0 51.4 16.9 34.5 39.3 9.3 8.4 0.9

o Xt 100.0 47.1 12.3 34.8 42.6 10.4 7.9 2.4

of Xt 100.0 51.2 14.8 36.4 38.6 10.2 8.4 .7
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25-1. 2= AMH|A BIEE - W

b

p] ohx o o oo | 2B | EES |
< B (B ) >

<2014>
o = 100.0 54.3 15.0 39.3 38.3 7.4 6.1 1.3

<2016>
& = 100.0 53.3 20.1 33.3 38.5 8.2 7.0 1.2
T AME B 100.0 51.9 18.6 33.3 39.9 8.2 7.1 1.0
sSHE(EHR) 100.0 61.6 28.5 33.0 30.1 8.4 6.3 2.1
=1 Xt 100.0 51.0 16.6 34.4 41.6 7.4 6.1 1.3
o Xt 100.0 54.9 22.3 32.6 36.4 8.7 7.6 1.1

<22

<2014>
o = 100.0 68.2 29.4 38.9 27.7 4.0 3.6 0.4

<2016>
& = 100.0 61.9 31.6 30.3 31.8 6.3 6.2 0.1
T AME B 100.0 55.1 26.5 28.6 35.7 9.2 9.2 -
sSHE(EHR) 100.0 68.5 36.6 31.9 28.0 3.5 3.3 0.2
=1 Xt 100.0 48.0 21.1 26.9 44.5 7.5 7.2 0.3
o Xt 100.0 71.3 38.7 32.5 23.3 5.5 5.5 -

< AZ(Br=) >

<2014>
& = 100.0 31.3 7.7 23.6 65.0 3.6 3.5 0.2

<2016>
o = 100.0 33.0 8.5 24.5 62.6 4.5 3.9 0.5
S A(E =) 100.0 33.2 7.9 25.3 62.5 4.3 3.7 0.6
SHE(EHESR) 100.0 31.1 13.6 17.6 63.2 5.7 5.7 -
=1 Xt 100.0 31.1 6.2 24.9 63.3 5.6 4.9 0.7
o ", 100.0 35.1 111 24.0 61.7 3.2 2.8 0.4
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25-2 2|& AMB|A BE'E Ol

e | GH [ XE2ZD| @ 2 | Mz |dzAa| B
N a0 =| =2aa sz |gsom mz | VE
<2014>
3 = 1000  11.0 247 207 9.5 202 26 8.6 2.7
<2016>
3 = 100.0 121 241 201 0.7 195 25 9.4 2.7
S AE T 100.0 115 249 200 9.8 199 18 9.8 2.4
soj&(seie 100.0 156 195 207 9.2 17.1 71 6.4 45
g on 100.0 115 248 215 9.5 92 23 9.2 2.7
o m 100.0 126 240  18.8 9.9 197 27 9.5 2.7
13 ~ 194 100.0 140 170 302 4.4 249 35 35 25
20 ~ 294l 100.0 154 248 190 167 134 20 8.0 0.9
30 ~ 39 A 100.0 125 210 196 113 212 40 8.1 2.4
40 ~ 49H 100.0 07 267 164 106 236 25 7.4 3.1
50 ~ 504l 100.0 119 202 203 7.7 213 13 130 4.4
60 Al O] & 100.0 117 300 227 5.2 150 26 108 1.9
65 Al O] & 100.0 114 316 226 6.0 155 2.1 9.9 .2
250l & 100.0 161 301  18.8 5.2 184 18 8.6 1.1
= = 100.0 9.9 275 239 6.0 196 17 8.8 2.7
1 = 100.0 124 231 202 9.2 208 23 9.4 2.6
s ol & 100.0 110 225 193 126 184 3.1 9.7 3.3
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26. AEHA B

(&2l @ %)
A Loz W 2| ymo |[SOXEsS| =0 X A ol
golez | TS T2 o2 Y | L)X %S
< ®EHEOI ME >

<2014>
H = 100.0 66.6 10.4 56.1 33.4 30.1 3.4

<2016>
S| = 100.0 54.7 4.9 49.9 45.3 38.9 6.3
T ANE =) 100.0 55.6 4.8 50.8 44 .4 38.5 6.0
SOE(SHR) 100.0 50.8 5.3 45.5 49.2 411 8.1
=1 Xt 100.0 52.1 41 48.0 47.9 411 6.8
of Xt 100.0 57.3 5.7 51.6 42.7 36.8 5.9
13 ~ 19Xl 100.0 42.7 2.4 40.4 57.3 46.0 11.3
20 ~ 29| 100.0 52.1 4.9 47.2 47.9 40.9 7.0
30 ~ 39Al 100.0 62.4 5.0 57.4 37.6 33.8 3.8
40 ~ 49A 100.0 62.4 5.2 57.2 37.6 33.8 3.7
50 ~ 59Al 100.0 57.6 5.1 52.4 42.4 37.6 4.8
60 Al O &t 100.0 46.6 5.4 41.2 53.4 44.1 9.3
65 Ml Ol & 100.0 44 1 5.8 38.3 55.9 45.3 10.6

<IHEME >

<2014>
il = 100.0 45.3 6.5 38.7 54.7 43.7 1.1

<2016>
S| = 100.0 42.7 5.7 37.0 57.3 45.2 12.1
T AE 2) 100.0 42.6 5.6 37.0 57.4 45.4 12.0
SOE(SHR) 100.0 43.0 6.0 37.0 57.0 44.2 12.8
=1 Xt 100.0 35.7 4.0 31.7 64.3 50.0 14.3
of Xt 100.0 49.4 7.3 42.1 50.6 40.6 10.0
13 ~ 19Xl 100.0 32.0 3.2 28.8 68.0 48.4 19.6
20 ~ 29| 100.0 33.0 3.6 29.4 67.0 49.6 17.5
30 ~ 39Al 100.0 45.5 6.5 39.0 54.5 43.2 11.3
40 ~ 49A 100.0 50.0 6.9 43.1 50.0 42.0 7.9
50 ~ 59Al 100.0 45.7 6.1 39.6 54.3 44.6 9.7
60 Al O &t 100.0 42.6 6.1 36.5 57.4 45.8 1.7
65 Ml Ol & 100.0 41.8 6.2 35.6 58.2 45.6 12.5
ol s 100.0 33.3 3.6 29.7 66.7 49.3 17.3
<At AS 100.0 46.8 6.3 40.5 53.2 43.6 9.6
At E 100.0 41.3 7.0 34.3 58.7 46.1 12.6
0l = 100.0 54.8 10.4 44 .4 45.2 35.8 9.4

- 103



26. AEHIA BE - HIS

=

A" [T if] ? Lolmo | SRS | =0 A | & s}
A - F g Y | LK S
<EHZHE>
<2014>
& = 100.0 72.9 18.0 54.9 27.1 22.7 4.4
<2016>
sl = 100.0 73.3 18.3 55.1 26.7 22.3 4.4
C AME B 100.0 75.1 19.3 55.8 24.9 21.0 3.9
SHE(EHSR) 100.0 65.7 14.0 51.7 34.3 27.9 6.4
g Xt 100.0 73.9 18.6 55.3 26.1 21.6 4.6
o4 Xt 100.0 72.6 17.8 54.7 27.4 23.3 4.1
13 ~ 194 100.0 51.7 7.8 43.8 48.3 37.3 1.0
20 ~ 29Al 100.0 73.6 21.6 52.0 26.4 22.0 4.4
30 ~ 39Al 100.0 80.9 23.5 57.4 19.1 16.7 2.4
40 ~ 49A 100.0 78.7 21.6 57.1 21.3 18.3 3.0
50 ~ 59Kl 100.0 72.4 15.0 57.4 27.6 23.2 4.4
60 Al O & 100.0 55.0 7.3 47.7 45.0 35.5 9.4
65 Al Ol & 100.0 491 5.0 44.2 50.9 39.1 1.8
o2 2 el 100.0 75.4 20.9 54.5 24.6 20.9 3.6
At < 100.0 80.1 24.0 56.1 19.9 17.6 2.4
AHIA EHOH 100.0 73.7 18.0 55.7 26.3 22.1 4.2
s o 100.0 47.7 5.3 42.4 52.3 40.4 1.9
sk 100.0 72.7 15.9 56.8 27.3 22.5 4.7
< stwME >
<2014>
o = 100.0 54.3 8.7 45.6 45.7 34.7 11.0
<2016>
sl = 100.0 52.9 8.4 44.5 471 35.3 11.8
S AME =) 100.0 53.5 8.4 45.1 46.5 34.6 1.9
SHE(EHSR) 100.0 49.2 8.8 40.4 50.8 39.7 1.1
g \; 100.0 47.2 6.6 40.7 52.8 38.2 14.6
o N, 100.0 59.1 10.4 48.7 40.9 32.1 8.8
=S USH 100.0 49.9 7.4 42.4 50.1 36.7 13.4
& Xt 100.0 44.0 6.4 37.6 56.0 39.5 16.4
o At 100.0 56.0 8.4 47.6 44.0 33.7 10.3
CHEHOI & TH 100.0 58.4 9.9 48.5 41.6 32.4 9.2
g At 100.0 53.5 7.0 46.4 46.5 34.9 1.6
o At 100.0 63.7 13.0 50.7 36.3 29.8 6.5




27. K[ado|| CHRt FF

Holw o |2 o | ze | =z jazs | e | 52| 20 |5 4
~ =~ o] = i _o | & | 28,
oeig| =H | Zof | =M | o= | =a | SO B2
<2014>
| = 100.0 6.8 100.0 37.4 5.4 1.1 7.8 12.7 14.0 5.6 1.6 4.5
<2016>
o = 100.0 6.4 100.0 35.5 3.1 13.5 9.5 14.2 14.4 4.7 1.5 3.6
T ANMEs =B 100.0 6.6 100.0 36.0 3.1 12.0 9.9 141 14.7 4.9 1.5 3.8
sHE(SHE 100.0 5.5 100.0 32.7 2.9 22.0 7.4 14.9 12.5 4.0 1.1 2.4
= Xt 100.0 5.3 100.0 40.0 4.3 13.8 10.3 12.7 1.7 3.9 1.4 2.0
o Xt 100.0 7.5 100.0 32.4 2.3 13.3 9.0 15.3 16.2 5.8 1.5 4.7
13 ~ 19Al 100.0 5.7 100.0 10.6 0.4 3.0 1.0 1.1 11.9 481 9.6 4.3
20 ~ 29A 100.0 7.9 100.0 26.6 2.4 9.5 25.9 14.3 9.7 4.7 0.9 6.0
30 ~ 39l 100.0 6.5 100.0 32.8 6.0 4.4 14.3 17.0 17.6 - 1.5 6.5
40 ~ 49Hl 100.0 6.4 100.0 45.5 3.5 10.2 5.4 12.3 20.1 - 0.7 2.4
50 ~ 59HAIl 100.0 6.6 100.0 46.8 1.8 14.9 5.0 14.8 15.2 - 0.8 0.7
60 Ml O] &t 100.0 5.3 100.0 35.7 3.2 32.8 1.2 14.3 10.3 - - 2.5
65 Ml Ol &t 100.0 5.0 100.0 31.3 3.6 37.6 0.7 13.7 10.4 - - 2.7
= & 0| ot 100.0 5.5 100.0 27 1 1.9 33.0 1.0 13.2 12.8 6.5 2.3 2.2
= = 100.0 6.7 100.0 32.6 0.7 14.5 1.5 14.7 12.1 17.0 3.3 3.6
) = 100.0 6.9 100.0 44.2 2.7 11.7 8.1 12.6 12.5 3.6 0.9 3.7
th & 0 & 100.0 6.1 100.0 29.2 4.9 8.1 17.6 16.3 18.2 0.5 1.2 41
= e 100.0 5.9 100.0 43.0 4.1 8.1 10.8 12.2 16.5 1.1 1.0 3.1
8oy o
e 100.0 7.0 100.0 27.3 2.0 19.3 8.1 16.3 12.1 8.6 2.0 4.2
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28-1. AIZIC] QHMASER ERH(5ET Mt H|L10199)

(SH21: %)
Al OrX o & = o 2} Helglg | FIEoid ok 2t =)
<2014>
o = 100.0 11.5 0.7 10.8 42.5 46.0 34.4 11.6
<2016>
o = 100.0 12.0 0.9 111 37.9 50.1 38.1 12.0
T ANE B) 100.0 12.1 0.9 11.2 38.2 49.7 37.2 12.5
sHE(SHSR) 100.0 11.8 0.9 10.9 36.3 51.9 42.2 9.7
= Xt 100.0 13.5 1.1 12.4 40.9 45.6 35.9 9.7
o Xt 100.0 10.6 0.7 9.9 35.0 54.5 401 14.3
13 ~ 19Xl 100.0 17.1 1.5 15.6 39.2 43.7 33.5 10.2
20 ~ 29Al 100.0 10.7 1.2 9.5 36.6 52.7 34.7 18.0
30 ~ 39A 100.0 9.1 0.6 8.4 35.5 55.4 36.8 18.7
40 ~ 49A 100.0 9.7 0.6 9.1 38.9 51.4 38.8 12.6
50 ~ 59Al 100.0 11.4 0.8 10.6 40.6 48.0 39.1 8.9
60 Ml Ol & 100.0 15.6 0.9 14.6 36.9 47.5 41.6 5.9
65 Ml Ol & 100.0 15.5 1.2 14.4 36.5 47.9 42 .4 5.5
= £ 0| ot 100.0 15.5 1.3 14.2 37.7 46.8 40.9 5.9
= = 100.0 14.8 1.2 13.6 38.7 46.5 37.7 8.8
n = 100.0 10.9 0.7 10.2 39.7 49.4 37.0 12.4
O & 0l & 100.0 10.8 0.8 10.0 35.8 53.4 38.1 15.3
FZEUNOEC

at = 100.0 15.3 1.3 14.0 37.1 47.6 36.9 10.7
2 = 100.0 10.1 0.6 9.4 39.9 50.1 38.8 11.3
= o = 100.0 8.2 0.4 7.8 33.9 57.9 39.5 18.4

R EEHA AS
1002HA 0|2t 100.0 14.3 1.3 13.0 36.9 48.7 40.3 8.5
100 ~ 2002+& 0] 2t 100.0 12.7 0.9 11.8 38.6 48.7 38.5 10.1
200 ~ 300QH& 0]t 100.0 11.6 0.7 10.9 37.7 50.7 37.8 12.9
300 ~ 4008H& 0]t 100.0 10.5 0.8 9.7 38.2 51.8 38.6 12.7
400 ~ 5002+& 0] 2+ 100.0 10.4 0.7 9.7 38.1 51.5 37.4 141
500 ~ 6008HA O]t 100.0 13.2 0.5 12.7 36.9 49.9 36.1 13.8
6002t 0] & 100.0 12.3 1.4 11.0 38.1 49.6 36.6 13.0
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28-2, A2I2] RIMASEN HRTH G FF)
(SH=1: %)
HM ol & Hotgls | I 1
A A ol 0 < ok 2t A ol | o] oF 2t 1] — o2
<2014>
& = 100.0 20.2 1.4 18.9 42.9 27.1 18.8 8.3 9.8
<2016>
& = 100.0 15.4 1.3 14.1 38.1 38.5 27.2 11.3 8.0
S AME =) 100.0 15.5 1.2 14.3 38.3 38.4 26.9 11.5 7.9
sSHE(ESHR) 100.0 14.9 1.5 13.3 37.1 39.2 29.0 10.1 8.9
=1 N 100.0 17.1 1.6 15.5 40.6 35.7 25.9 9.8 6.6
o N 100.0 13.7 1.0 12.7 35.7 41.2 28.5 12.7 9.4
13 ~ 19Al 100.0 18.4 2.5 15.9 36.2 37.3 26.7 10.6 8.1
20 ~ 29A 100.0 12.8 1.2 11.6 39.0 40.0 24.5 15.5 8.1
30 ~ 39Al 100.0 14.2 1.1 13.1 36.6 41.4 26.1 15.4 7.8
40 ~ 49A 100.0 14.2 1.1 13.0 41.7 37.4 26.7 10.7 6.7
50 ~ 59Al 100.0 16.5 1.2 15.2 39.2 37.4 27.8 9.5 7.0
60 Al Ol & 100.0 16.9 1.1 15.8 35.4 37.6 30.2 7.4 10.2
65 Al Ol & 100.0 16.3 1.3 15.0 35.3 37.9 30.6 7.3 10.5
Zx & 0l ot 100.0 16.2 1.7 14.5 35.3 37.0 29.6 7.4 11.5
= ES 100.0 16.4 1.6 14.8 38.3 36.0 27.2 8.7 9.3
inl ES 100.0 14.2 1.1 13.1 39.8 38.1 26.4 11.6 7.9
O =0l & 100.0 15.8 1.1 14.7 37.3 40.5 271 13.3 6.3
FANUEG
et = 100.0 19.5 1.9 17.5 37.0 36.6 26.8 9.9 6.9
=l = 100.0 12.9 0.8 12.1 39.7 38.8 28.0 10.8 8.5
= 2 = 100.0 10.5 0.6 9.9 36.5 431 26.2 16.9 9.9
7o E8a A5
1008+ 0OI gt 100.0 15.6 1.5 14.1 35.5 38.0 28.9 9.1 10.9
100 ~ 2002t Ol 100.0 14.4 1.2 13.2 37.5 39.1 28.2 10.9 9.1
200 ~ 3008+ 0| gt 100.0 15.0 1.2 13.8 38.0 38.2 26.0 12.3 8.8
300 ~ 4002+ O] gt 100.0 13.9 1.1 12.8 39.3 39.3 28.1 11.2 7.6
400 ~ 5002+& Ol 100.0 15.7 1.3 14.3 38.9 38.7 26.7 12.1 6.7
500 ~ 6002+ O] gt 100.0 17.3 1.2 16.1 40.1 36.8 25.8 11.0 5.8
6008HA 0l&f 100.0 18.2 1.6 16.7 38.1 38.3 26.5 11.8 5.4
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29. AIQ] OITMOj| CliEt olAI
(€1 %)
o X o = = of
A &4 e | vo= = bl D= 0 <
< MEHEOI ALB| OFR >
<2014>
= = 100.0 9.5 0.6 8.9 39.6 50.9 39.5 11.4
<2016>
= = 100.0 13.2 11 12,1 412 45.5 36.1 9.4
T AE ) 100.0 13.4 11 12.0 411 45.5 35.6 9.9
=o|&(S0iR) 100.0 12.5 12 1.3 41.9 45.6 38.3 7.3
o Xt 100.0 15.9 15 14.4 44.0 40.1 32.6 7.4
o Xt 100.0 10.6 0.8 9.8 38.5 50.9 39.5 11.4
<2 MBI (AW IS, KM ) >
<2014>
& 2 100.0 14.9 11 13.8 33.4 51.6 40.2 115
<2016>
& 2 100.0 19.8 17 18.1 34.8 45.4 36.6 8.9
T AE =) 100.0 19.9 17 18.3 34.9 45.2 36.4 8.7
=o|&(g0) 100.0 19.0 1.9 17.1 34.3 46.7 37.2 9.6
o Xt 100.0 21.8 2.1 19.7 35.7 425 34.2 8.3
Xt 100.0 17.8 13 16.4 34.0 48.3 38.9 9.4
<TSTH(ENE, XA S) >
<2014>
= = 100.0 15.1 0.9 14.2 40.6 44.3 35.3 9.0
<2016>
= = 100.0 20.8 16 19.1 43.4 35.9 30.1 5.8
T AE ) 100.0 21.2 17 19.6 43.8 35.0 29.4 5.6
=o|&(S0) 100.0 18.5 1.4 17.1 41.4 40.2 33.7 6.5
o Xt 100.0 22.9 2.1 20.9 44.2 32.9 27.7 5.2
o Xt 100.0 18.6 12 17.4 42.6 38.8 32.5 6.3
<ABS Y NLB(2T, 2L S) >
<2014>
& 2 100.0 12,1 0.7 1.3 36.7 51.3 38.2 13.1
<2016>
& 2 100.0 20.7 17 19.0 45.5 33.8 27.9 5.9
T AE ) 100.0 20.9 17 19.2 45.4 33.7 27.8 5.9
=o|&(S0) 100.0 19.9 2.0 17.8 46.0 34.1 28.7 5.4
o Xt 100.0 23.2 2.3 20.9 45.9 30.9 25.6 5.3
o Xt 100.0 18.3 12 17.1 45.1 36.6 30.2 6.4
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29. AIZ] o1™Oj| ClEt OIAIEE - HIS
(€1 %)
o X o = = of
A &4 e | vo= = bl D= 0 <
<DEAD >
<2014>
= = 100.0 73 0.4 6.9 36.6 56.2 423 13.9
<2016>
= = 100.0 10.2 0.8 9.5 39.4 50.4 39.1 1123
T AE ) 100.0 10.3 0.8 9.6 39.4 50.2 39.1 1.2
=o|&(g0) 100.0 9.9 0.9 9.0 39.2 50.9 39.3 116
o X 100.0 1.2 1.0 10.3 40.7 48.1 37.6 105
o Xt 100.0 9.3 0.6 8.7 38.2 52.5 40.5 12.0
<BHM(at2 28 >
<2014>
= = 100.0 14.2 0.8 13.4 51.4 34.5 28.6 5.9
<2016>
= = 100.0 19.1 16 175 51.7 29.1 24.9 42
T AE ) 100.0 195 16 17.8 52.1 28.5 24.2 42
=o|E(g0) 100.0 17.6 17 15.9 50.1 32.3 28.2 41
o X 100.0 20.5 1.9 185 52.6 27.0 23.3 3.7
Xt 100.0 17.8 1.4 16.5 51.0 31.2 26.5 47
<O (BBAE, AZSS S)>
<2014>
x = 100.0 14.1 0.9 13.2 40.8 45.1 33.6 115
<2016>
= = 100.0 17.4 15 15.9 411 415 31.9 9.7
T AE ) 100.0 17.2 15 15.8 40.6 42.1 32.0 10.1
=o|E(g0) 100.0 18.1 18 16.3 43.2 38.7 31.3 7.4
o X 100.0 18.9 18 17.1 42,6 38.5 29.7 8.8
o Xt 100.0 15.9 13 14.7 39.6 44.5 34.0 105
<A OIE(ZEI} ES, A BE S) >
<2014>
= = 100.0 25.0 2.9 22.2 47.0 28.0 218 6.1
<2016>
& = 100.0 29.3 42 25.1 46.3 24.4 19.8 46
T AE ) 100.0 29.6 42 25.4 46.1 24.2 19.6 46
=o|E(g0) 100.0 27.7 3.8 23.9 47.3 25.0 20.8 42
o X 100.0 31.0 47 26.3 45.9 23.1 185 46
o Xt 100.0 27.7 3.7 24.0 46.7 25.6 21.1 46
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29. AIZ] o1™Oj| ClEt OIAIEE - HIS
(€1 %)
o X o = = of
A &4 e | vo= = bl D= 0 <
<HE HOHZEEHI0HA, JIE Y ) >
<2014>
& 2 100.0 7.4 0.6 6.8 29.8 62.8 40.1 2.8
<2016>
& 2 100.0 11.9 12 10.7 36.1 52.0 38.1 13.9
T AE = 100.0 12.0 11 10.9 35.6 52.4 38.1 14.3
=0|&(g0E 100.0 17 16 10.0 38.4 49.9 37.8 12,1
o Xt 100.0 12.9 14 11.4 36.6 50.5 37.5 13.1
o Xt 100.0 11.0 1.0 10.0 35.6 53.4 38.7 14.7
CAE HY(NE HIOIMA, SEY S) >
<2014>
= = 100.0 9.4 0.7 8.7 35.5 55.1 42.1 13.0
<2016>
= = 100.0 9.4 0.9 8.5 28.6 62.0 44.7 173
= AE = 100.0 9.4 0.9 8.5 28.5 62.1 44.3 178
=olE(S oS 100.0 9.2 1.0 8.2 29.3 61.5 46.4 15.1
o Xt 100.0 10.9 12 9.7 30.7 58.4 43.1 15.3
o X 100.0 7.8 0.6 7.2 26.6 65.5 46.2 19.4
<HE B>
<2014>
& 2 100.0 8.9 0.8 8.1 26.6 64.6 43.7 20.8
<2016>
= 2 100.0 9.2 0.9 8.3 23.7 67.1 42.2 24.9
T AE = 100.0 9.3 0.9 8.4 23.4 67.3 417 25.5
=0|&(z0e 100.0 8.9 0.8 8.1 25.0 66.1 44.2 21.9
o X 100.0 12.0 13 10.6 27.4 60.6 413 19.3
o Xt 100.0 6.6 0.5 6.1 20.1 73.3 42.9 30.4
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o =
30. AIRIC] Y FE! &P 99!
CH2l: %)
- BIEAXZ
=2 3tA 24 x A A= g}’ _
I e Il - T ol Rl i - T S T
or = OH = 'I"It:v - = =o =S ﬁl%jel'%
<2014>
™ = 100.0 19.7 4.7 5.1 21.0 9.7 13.0 2.7 19.5 4.0 0.6
<2016>
™ = 100.0 19.3 3.0 5.8 6.5 15.5 9.5 49 297 5.3 0.5
T AN(E B 100.0 18.8 2.4 6.0 6.1 16.2 9.8 4.6  30.1 5.5 0.5
SHE(SHR) 100.0 21.5 5.9 5.1 8.2 12.4 7.9 6.3 28.1 4.0 0.6
=1 Xt 100.0 22.2 3.2 5.7 6.7 17.5 11.3 45 21.9 6.4 0.7
O Xt 100.0 16.5 2.8 6.0 6.3 13.6 7.7 52 373 4.2 0.4
13 ~ 19Al 100.0 18.4 2.6 5.5 4.9 8.1 11.0 4.7  39.7 4.0 1.2
20 ~ 29A 100.0 13.8 2.6 3.8 5.5 15.4 10.5 3.4 394 5.0 0.6
30 ~ 39Al 100.0 14.3 2.2 5.6 6.8 16.8 11.0 5.1 32.1 5.8 0.3
40 ~ 49A 100.0 17.7 2.5 5.8 7.3 20.0 9.9 4.3 26.8 5.4 0.4
50 ~ 59A 100.0 21.2 3.2 8.0 6.0 17.7 8.6 45 242 6.2 0.4
60 Al Ol & 100.0 27 1 4.4 5.8 7.2 12.1 7.3 6.5 243 4.8 0.6
65 Al Ol & 100.0 29.2 4.9 4.8 7.4 10.6 6.8 6.5 24.9 4.1 0.7
= £ 0| ot 100.0 24.7 5.3 5.4 7.5 10.2 5.7 7.0 293 4.0 0.9
= = 100.0 20.6 3.6 5.3 5.9 12.1 8.8 58 33.0 4.7 0.6
i = 100.0 18.8 2.7 5.9 5.7 16.8 9.6 4.7 30.4 5.1 0.4
th & 0l & 100.0 17.2 2.2 6.1 7.1 17.5 11.1 4.1 28.0 6.2 0.4
o2 22 100.0 17.2 2.1 6.2 6.9 17.4 12.4 4.3 26.7 6.3 0.4
Al £ 100.0 15.2 1.5 6.7 7.2 17.5 11.2 3.4 31.0 6.1 0.2
A HI A EHOH 100.0 16.5 2.9 5.4 5.4 18.0 9.0 50 325 5.0 0.4
s 0 ¢ 100.0 23.2 11.5 3.9 7.9 9.8 6.8 6.6 25.9 3.9 0.4
skt 100.0 19.4 3.0 5.7 7.0 18.4 9.0 49 26.2 5.9 0.4
bRe #ER AS
1000+ O CtH 100.0 22.7 4.9 4.9 7.7 12.2 6.5 6.1 29.4 5.1 0.6
100 ~ 2002+ 012+ | 100.0 20.2 3.7 5.7 6.5 15.5 8.5 55 283 5.5 0.6
200 ~ 3002+ 012+ | 100.0 18.3 2.7 5.9 6.2 16.1 9.5 4.2 30.8 5.9 0.5
300 ~ 4002+ 012+ | 100.0 18.3 2.6 5.6 6.7 17.2 9.1 58 30.2 4.6 0.5
400 ~ 5002H& DI2H| 100.0 17.7 2.5 6.5 5.8 16.9 10.5 4.3 30.2 5.2 0.4
500 ~ 6002+ 012+ | 100.0 19.0 1.7 5.7 6.5 15.8 10.6 5.2 30.3 4.7 0.6
6000HR O &t 100.0 19.5 2.5 6.7 6.0 14.1 13.1 3.5 286 5.5 0.5

=) 'R X) 2!
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31-1. ORIt EHoYOj| EjS QMM
e co | o cae 2
5 Sjzsol | ewue | o = o
X Al elofd | oez | c2on | 1B |2 ©
<2014>
8 = 100.0 426  100.0 30.4 7.8 60.2 1.6 57.4
<2016>

8 = 100.0 409  100.0 31.7 7.7 59.9 0.7 59.1
= AE = 100.0 M5 1000 30.3 8.4 60.6 0.7 58.5
solE(zes 100.0 384 100.0 39.1 4.2 56.1 0.6 61.6
T 100.0 294 100.0 35.5 8.5 55.4 0.6 70.6
o m 100.0 522 100.0 29.6 7.3 62.3 0.7 47.8
o= xo 100.0 387 1000 32.8 8.3 58.4 0.6 61.3
o T = 100.0 408  100.0 30.5 6.5 62.4 0.6 59.2
ST 100.0 460 100.0 33.4 10.7 54.8 1 54.0
13 ~ 1941 100.0 494 100.0 3.1 6.7 59.7 0.5 50.6
20 ~ 294 100.0 490 100.0 34.9 6.6 58.0 0.5 51.0
30 ~ 39 A 100.0 503 100.0 32.6 8.3 58.3 0.9 49.7
40 ~ 494 100.0 445 100.0 30.1 8.0 61.4 0.5 55.5
50 ~ 594l 100.0 36.6  100.0 31.8 8.1 59.4 0.7 63.4
60 M O & 100.0 254 100.0 27.5 8.5 63.2 0.9 74.6
65 M O & 100.0 239  100.0 26.3 8.7 64.0 .0 76.1

FaEoEs
o o= 100.0 408  100.0 31.4 7.0 61.0 0.6 59.2
v = 100.0 395  100.0 3.1 7.8 58.6 0.5 60.5
2 o = 100.0 457 100.0 28.7 9.8 60.3 1.2 54.3
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FLr o8 EHE! CHAMTES

SHx e 3| gayg | O £ |H0ODIL|sME7E
H " O g | gohaE | ST | AR (OS)ER| N2 | Jl
Chu o |SotM2tH YT | ssat | 0IE0 | oY
<2014>
& = 100.0 50.9 14.4 12.8 6.3 14.7 0.3 0.6
<2016>

= = 100.0 52.3 14.5 13.1 5.7 13.8 0.4 0.3
= ANE 2 100.0 53.1 15.8 12.0 5.5 12.9 0.4 0.3
SolE(S0E 100.0 48.0 7.9 18.6 6.7 18.0 0.5 0.3
o Xt 100.0 63.3 11.6 13.4 3.5 7.6 0.3 0.3
of Xt 100.0 46.2 16.1 12.9 6.9 17.2 0.5 0.3
o= 100.0 57.1 10.6 12.8 5.3 13.6 0.5 0.2
o m € 100.0 47.6 16.9 13.9 6.2 14.8 0.3 0.3
I B 100.0 58.6 13.7 11.2 4.7 11.0 0.5 0.3
13 ~ 194 100.0 64.3 14.4 48 11.1 4.4 0.5 0.6
20 ~ 29 100.0 64.4 13.5 8.7 5.8 6.4 0.6 0.6
30 ~ 39Al 100.0 45.9 14.1 18.3 5.3 15.7 0.4 0.3
40 ~ 49H| 100.0 475 16.0 16.3 5.2 14.4 0.4 0.2
50 ~ 594l 100.0 49.9 16.9 15.6 4.4 13.0 0.2 0.0
60 Al Of & 100.0 46.6 11.5 9.6 4.1 27.8 0.4 0.0
65 Al Ol & 100.0 455 9.6 7.9 4.0 325 0.5 0.0

EBHOET
o = 100.0 49.8 16.0 13.3 7.0 13.2 0.4 0.4
2 = 100.0 52.8 13.5 13.4 5.0 14.7 0.4 0.2
2 o = 100.0 57.4 13.5 11.4 4.2 12.8 0.6 0.2

Z= 1) OF2t 230 CHoll 'S R0l JACHD S XY
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— R AT
32-1. F¥ENM £&E
CHel: %)
INEIRN
Al XI21C or = H D= 230IC or=C} H D= A 5
<XHAXI2I21>

<2014>
& = 100.0 62.2 15.2 47.0 28.4 9.4 8.3 1.1

<2016>
& = 100.0 60.2 13.5 46.8 30.0 9.8 8.8 1.0
T AMEs =B 100.0 61.0 13.8 47 1 29.6 9.4 8.4 1.0
sHE(SHE 100.0 56.7 11.8 44.9 31.6 11.6 10.7 0.9
= Xk 100.0 58.3 12.8 45.5 31.5 10.2 9.0 1.2
o Xt 100.0 62.1 14.1 47.9 28.5 9.4 8.6 0.8
13 ~ 19Xl 100.0 59.4 18.3 411 28.8 11.8 10.6 1.2
20 ~ 29Al 100.0 56.5 15.6 40.9 30.3 13.2 11.0 2.1
30 ~ 39A 100.0 58.3 12.8 45.6 32.4 9.3 8.2 1.1
40 ~ 49A 100.0 65.4 13.1 52.3 28.3 6.3 5.8 0.5
50 ~ 59Al 100.0 62.8 13.3 49.6 28.7 8.5 7.8 0.6
60 Al O] &f 100.0 57.9 11.1 46.8 31.0 1.1 10.4 0.7
65 Ml 0] &f 100.0 56.6 10.8 45.9 31.8 11.6 11.0 0.7

<Heol&d EA>

<2014>
| = 100.0 33.1 10.8 22.3 31.1 35.8 27.9 7.9

<2016>
| = 100.0 31.8 9.5 22.2 32.7 35.6 28.2 7.3
T A(s =B 100.0 31.4 9.7 21.7 32.4 36.2 28.4 7.8
SHE(SHE 100.0 33.4 8.8 24.6 34.1 32.5 27.3 5.2
= N 100.0 30.3 8.0 22.2 34.9 34.8 27.7 7.0
o N 100.0 33.2 11.0 22.2 30.4 36.4 28.7 7.6
13 ~ 19Al 100.0 33.1 14.7 18.4 26.8 401 27.1 13.0
20 ~ 29A 100.0 28.0 10.9 171 27.2 44.8 30.0 14.8
30 ~ 39All 100.0 29.2 8.2 21.0 33.9 36.9 29.4 7.5
40 ~ 49A 100.0 32.5 9.2 23.3 37.0 30.5 26.4 41
50 ~ 59A 100.0 33.5 9.1 24.4 34.6 31.9 26.8 5.1
60 Ml O] &f 100.0 33.6 8.1 25.5 32.5 33.9 29.4 4.5
65 Ml 0] & 100.0 33.9 8.2 25.8 32.2 33.9 29.3 4.6
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32-1. ¥¥ENM £E-HS
CHel: %)
INEIRN
j:” I|i|[} 0} $ Hll—ﬂ)&\q E%O“j’ (LD%E[} |:||J_JL73\' ps| 8‘-|
<HH#EA>

<2014>
| = 100.0 38.0 8.3 29.7 39.7 22.4 19.6 2.8

<2016>
o = 100.0 37.6 7.4 30.2 40.8 221 19.83 2.8
T A(E =7 100.0 37.8 7.5 30.2 40.2 221 19.2 2.9
sHE(SHE 100.0 37.0 6.9 30.1 40.7 22.3 19.8 2.6
=1 I 100.0 36.6 7.3 29.3 40.8 22.6 19.6 3.1
o Xt 100.0 38.7 7.5 31.1 39.8 21.6 19.0 2.6
13 ~ 19Xl 100.0 37.5 10.1 27.3 36.1 26.4 21.9 4.5
20 ~ 29Al 100.0 33.9 8.1 25.8 37.0 291 22.6 6.5
30 ~ 39A 100.0 33.8 6.1 27.7 41.7 24.5 21.4 3.1
40 ~ 49A 100.0 39.7 7.0 32.7 41.8 18.5 17.0 1.5
50 ~ 59Al 100.0 38.6 7.1 31.5 43.1 18.3 16.7 1.6
60 Al Ol & 100.0 40.5 7.4 33.1 39.5 20.0 18.6 1.4
65 Al O] & 100.0 411 7.4 33.7 39.0 19.9 18.4 1.5

<AL DEEAM>

<2014>
o = 100.0 31.0 7.4 23.7 43.6 25.4 22.5 2.9

<2016>
| = 100.0 30.3 6.4 23.9 442 25.6 22.7 2.9
T AMEs B 100.0 30.0 6.4 23.5 44.2 25.8 22.9 3.0
sHE(SHE 100.0 31.7 6.2 25.5 44.0 24.3 22.1 2.2
= Xt 100.0 30.7 6.3 24.4 43.2 26.1 23.0 3.1
o I 100.0 29.8 6.5 23.4 451 251 22.4 2.6
13 ~ 19Al 100.0 33.4 10.0 23.4 44.4 22.2 18.9 3.3
20 ~ 29Al 100.0 27.5 8.2 19.2 41.6 30.9 26.2 4.7
30 ~ 39A 100.0 28.6 5.7 22.9 43.9 27.5 24.2 3.3
40 ~ 49A 100.0 31.4 6.1 25.2 47 1 21.5 19.6 1.9
50 ~ 59A 100.0 31.5 5.8 25.8 44.5 24.0 22.2 1.8
60 Al Ol & 100.0 30.2 4.9 25.2 431 26.7 24.0 2.7
65 Al Ol & 100.0 30.0 4.7 25.3 43.2 26.8 23.9 2.8
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=11 X1 Voo N\
32-1. =M £=-HIs
CHRl: %)
XI2IX
j:” I|i|[} 0} = Hll—ﬂ)&\q E%O“j’ (LD%E[} |:||J_JL73\' x 8‘-|
<B2&A SEH>
<2014>
& = 100.0 37.6 13.4 24.2 32.6 29.8 23.3 6.5
<2016>
bS = 100.0 37.8 11.9 25.9 33.3 29.0 23.0 6.0
= AE = 100.0 37.4 12.1 25.3 32.7 29.8 23.3 6.5
SHE(SHE 100.0 39.4 10.7 08.7 35.8 24.8 21.3 3.6
= Xt 100.0 39.1 11.9 27.1 33.6 27.3 22.3 4.9
of Xt 100.0 36.5 11.8 24.7 32.9 30.6 23.6 7.0
13 ~ 19 100.0 36.2 17.5 18.7 29.2 34.6 24.3 10.3
20 ~ 29 100.0 34.8 14.4 20.3 30.4 34.9 23.6 11.3
30 ~ 39Al 100.0 35.3 11.7 23.6 32.2 32.5 24.9 7.6
40 ~ 49A 100.0 40.5 11.9 8.6 35.1 24.4 21.0 3.4
50 ~ 59Al 100.0 39.9 11.0 29.0 35.3 24.7 21.3 3.4
60 Al Ol & 100.0 38.2 8.7 29.5 34.5 27.4 23.5 3.8
65 Al Ol & 100.0 38.6 8.3 30.3 34.4 27.0 23.1 3.9
<Z22FA H=>
<2014>
& = 100.0 29.8 9.2 20.6 34.6 35.7 28.1 7.6
<2016>
& = 100.0 29.5 8.0 21.5 37.0 33.4 27.0 6.4
= ANEs = 100.0 29.4 8.2 21.2 36.5 34.1 27.3 6.8
EVEIELEE 100.0 30.2 7.0 23.2 39.6 30.2 25.6 4.6
o Xt 100.0 30.4 8.4 22.1 37.6 31.9 26.0 5.9
ol Xt 100.0 8.6 7.6 21.1 36.5 34.9 27.9 7.0
13 ~ 194l 100.0 34.4 12.7 21.8 35.2 30.4 23.4 7.0
20 ~ 29Al 100.0 29.5 9.4 20.0 34.2 36.4 26.3 10.0
30 ~ 39Al 100.0 27.0 6.8 20.3 36.7 36.3 27.8 8.5
40 ~ 49A 100.0 30.6 8.0 22.6 38.8 30.6 25.8 4.9
50 ~ 59 Al 100.0 08.8 7.7 21.1 38.0 33.2 27.8 5.4
60 Al Ol & 100.0 29.2 6.2 23.0 37.7 33.1 28.7 4.4
65 Al Ol & 100.0 29.0 6.0 23.0 38.0 32.9 28.5 4.4
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32-2, JMFRAUTIN G BISE
%)
A IE - S | 28 | =mE | 4 o 5
<2014>
8 = 100.0 39.0 6.8 32.2 47.9 13.1 1.0 2.1
<2016>
8 = 100.0 45.0 9.3 35.7 37.1 17.9 14.6 3.3
NTE ) 100.0 45.4 9.3 36.1 37.4 17.1 14.2 3.0
solE(Ses) 100.0 42.8 9.1 33.7 35.6 21.6 16.8 4.7
g n 100.0 44.6 9.0 35.6 36.9 18.5 14.7 3.8
o X 100.0 45.3 9.5 35.8 37.3 17.3 14.6 2.8
13 ~ 194 100.0 50.1 13.5 36.6 34.6 5.3 13.3 2.1
20 ~ 29 100.0 43.0 10.2 32.9 37.7 19.3 15.4 3.9
30 ~ 394l 100.0 38.1 5.3 32.8 37.0 24.9 19.7 5.2
40 ~ 49| 100.0 41.6 6.3 35.4 38.2 20.2 17.0 3.1
50 ~ 59l 100.0 45.4 8.4 36.9 38.0 16.6 13.6 3.0
60 M OI & 100.0 52.1 13.3 38.8 36.1 1.8 9.5 2.3
65 Al 0l & 100.0 53.3 14.4 39.0 35.9 10.8 8.5 2.3
x & 0l o 100.0 51.3 14.2 37.2 35.3 13.3 1.1 2.2
z = 100.0 48.0 1.2 36.8 37.4 14.6 12.0 2.6
R 100.0 42.7 8.2 34.5 39.0 18.3 14.6 3.7
ool Y 100.0 43.7 7.7 36.1 35.7 20.5 17.0 3.6
@eael 100.0 45.1 7.4 37.6 34.6 20.3 16.6 3.7
AR 100.0 43.5 6.8 36.7 35.1 21.5 17.6 3.8
Kbl 2 B Of 100.0 42.6 8.2 34.4 38.4 18.9 15.4 3.5
5 0o o 100.0 43.5 10.3 33.2 39.4 17.1 13.2 3.9
N5k e 100.0 43.0 8.0 35.0 38.8 8.1 14.9 3.2
7ol BEB A4S
1002l O/t 100.0 49.7 13.3 36.4 35.4 14.9 1.4 3.5
100 ~ 2008¢#! Dt 100.0 44.0 9.6 34.3 40.1 5.9 13.0 3.0
200 ~ 3008+l O/t 100.0 42.1 7.8 34.3 38.2 19.7 16.0 3.7
300 ~ 4008+ Ol 100.0 42.1 7.7 34.4 37.9 20.1 16.7 3.3
400 ~ 5008+l Ol 100.0 45.9 8.0 37.9 36.5 17.6 14.0 3.6
500 ~ 60082l O]t 100.0 47.1 8.4 38.7 34.0 18.9 16.7 2.2
600812 O] & 100.0 48.5 1.3 37.1 33.8 17.7 14.5 3.2
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33-1. B38| Ny &3

(&2l %)
Al L e | e | BE | OURH o o e
< 21>
<2014>
8@ = 100.0 36.0 10.2 25.8 43.2 20.8 17.4 3.4
<2016>
8@ = 100.0 31.7 8.7 23.0 40.4 28.0 21.4 6.6
E AE =) 100.0 27.0 5.9 21.1 42.6 30.4 23.2 7.3
s0E(SeR) 100.0 53.9 21.8 32.2 29.9 16.2 12.9 3.3
<& &
<2014>
@ = 100.0 34.9 8.6 26.2 52.0 13.1 11.3 1.8
<2016>
@ = 100.0 33.2 7.9 25.2 51.3 15.5 13.2 2.4
= A =) 100.0 29.4 5.7 23.6 54.3 16.3 13.9 2.5
SVEICEE) 100.0 51.4 18.5 33.0 36.9 11.6 9.8 1.8
<E QM) HIIBE OIE 2%)>
<2014>
8@ = 100.0 30.5 7.3 23.2 51.8 17.6 15.0 2.7
<2016>
8@ = 100.0 29.4 6.7 22.6 50.5 20.1 16.8 3.2
E ANE =) 100.0 26.0 5.0 21.1 52.8 21.2 17.7 3.5
s0E(SeR) 100.0 45.4 15.3 30.1 39.9 14.7 12.5 2.2
ASES>
<2014>
@ = 100.0 26.9 7.4 19.5 41.0 32.0 25.1 6.9
<2016>
@ = 100.0 27.5 7.1 20.4 39.7 32.8 25.2 7.6
= A =) 100.0 23.8 4.9 18.9 40.8 35.4 27.2 8.2
SVEICEE) 100.0 45.2 17.5 27.8 34.3 20.4 15.8 4.6
<EXNS#B(B, 2+ 8)>
<2014>
8@ = 100.0 41.2 12.0 29.2 41.8 17.1 13.3 3.8
<2016>
8@ = 100.0 41.3 11.8 29.4 41.1 17.6 13.8 3.8
E ANE =) 100.0 39.8 10.4 29.4 42.0 18.2 14.3 3.9
s0E(SeR) 100.0 48.6 18.9 29.7 36.8 14.6 1.2 3.4
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Al Z0t& W e oko} Hate S L ook & ok} o e
<2016>
| = 100.0 26.4 2.7 23.6 44.0 29.7 24.4 5.3
T ANE B) 100.0 26.7 2.7 24.0 43.8 29.5 23.9 5.7
SHE(SHSR) 100.0 24.8 3.0 21.8 44.9 30.3 26.8 3.5
= Xt 100.0 26.5 2.8 23.7 45.8 28.2 23.5 4.7
o Xt 100.0 26.2 2.7 23.5 42.7 31.1 25.2 5.9
FANOUEE
ot = 100.0 30.5 3.7 26.7 41.0 28.5 23.8 4.7
e s 100.0 24.0 2.0 22.0 46.8 291 24.3 4.9
g ot = 100.0 21.3 1.8 19.5 44.0 34.7 26.3 8.4
13 ~ 19Al 100.0 25.4 3.1 22.3 46.8 27.8 21.8 6.0
20 ~ 29Al 100.0 23.3 3.0 20.3 45.5 31.2 23.7 7.5
30 ~ 39A 100.0 24.3 2.2 22.2 40.6 35.1 26.6 8.5
40 ~ 49A 100.0 25.0 2.4 22.6 44.9 30.1 24.9 5.2
50 ~ 59 Al 100.0 27.8 2.9 25.0 43.4 28.7 24.9 3.8
60 Al Ol & 100.0 30.4 3.0 27.3 44 1 25.6 23.3 2.3
65 Ml Ol & 100.0 30.2 3.2 27.0 44.2 25.6 23.7 1.9
= &£ 0| of 100.0 27.5 3.1 24.3 45.7 26.8 241 2.7
£ £ 100.0 26.9 3.4 23.5 47 1 26.0 22.2 3.8
i = 100.0 25.9 2.7 23.1 45.4 28.8 23.9 4.9
£ ol & 100.0 26.3 2.3 23.9 40.7 33.1 25.8 7.3
bR BEA A4S
100CH2 0] 2+ 100.0 26.7 3.4 23.2 46.0 27.3 24.0 3.4
100 ~ 2000+ 0] 2+ 100.0 25.3 3.0 22.2 46.5 28.2 241 4.1
200 ~ 3002+ 0ot 100.0 25.8 2.1 23.7 44.6 29.6 23.9 5.7
300 ~ 4000H 0] 2t 100.0 25.3 2.1 23.1 43.4 31.3 25.7 5.6
400 ~ 5000H2 0] 2t 100.0 27.8 2.6 25.2 42 .1 30.1 23.8 6.3
500 ~ 6002+ Ofct 100.0 27.2 2.9 24.3 42.0 30.8 24.8 6.0
6002+ Of A 100.0 28.1 3.5 24.6 40.9 31.0 24.5 6.5

= 1) 201640 MSH FItel

St=2
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<2016>
& - 100.0 24.7 2.4 22.3 38.0 31.5 24.5 7.0 5.8
= NE =) 100.0 25.3 2.3 23.0 37.4 31.8 24.5 7.2 5.6
SoE(SH=) 100.0 22.0 2.7 19.3 41.1 30.2 24.5 5.7 6.7
o Xt 100.0 25.1 2.4 22.8 39.1 30.7 23.9 6.9 5.0
of Xt 100.0 24.3 2.4 21.9 37.0 32.2 25.1 7.1 6.5
EUHOEC
o = 100.0 29.2 3.3 25.9 36.1 30.1 23.9 6.2 4.6
= = 100.0 21.9 1.7 20.3 405 31.4 24.6 6.8 6.2
2 o = 100.0 19.8 1.8 18.1 36.2 36.0 26.0 10.0 7.9
13 ~ 194l 100.0 25.6 3.6 22.0 36.2 30.3 225 7.8 7.9
20 ~ 29Kl 100.0 23.6 2.5 21.1 36.6 33.8 24.1 9.7 5.9
30 ~ 394l 100.0 23.2 2.2 21.0 35.7 36.6 27.3 9.3 45
40 ~ 49K 100.0 24.5 1.8 22.7 38.8 32.3 25.9 6.3 4.4
50 ~ 594l 100.0 26.1 2.6 23.4 39.0 29.8 24.0 5.8 5.2
60 Al Ol 4t 100.0 25.2 2.2 23.0 40.1 27.2 20.7 4.6 7.4
65 Al 0l A 100.0 24.4 2.2 00.2 40.4 27.0 225 45 8.2
£ =0l o 100.0 23.0 25 20.4 39.4 27.8 20.7 5.2 9.8
= = 100.0 25.0 3.4 21.7 40.3 27.6 22.1 5.5 7.1
2 = 100.0 24.2 2.4 21.9 39.1 30.9 24.0 6.9 5.7
o= ol & 100.0 25.8 2.0 23.8 35.5 35.0 26.7 8.4 3.7
RO FER AS
1002+l O] Bt 100.0 23.4 3.3 20.1 39.2 28.3 20.4 6.0 9.1
100 ~ 2009+81 018F | 100.0 22.6 2.3 20.3 39.5 30.9 24.5 6.4 7.0
200 ~ 3008k 08 | 100.0 25.1 2.1 22.9 375 31.7 24.2 7.4 5.8
300 ~ 4008+ QI8 | 100.0 23.4 2.2 21.2 39.2 325 25.3 7.3 4.9
400 ~ 5008+ OB | 100.0 26.2 2.1 24.2 38.3 30.9 23.7 7.2 4.6
500 ~ 6008+ OB | 100.0 27.4 2.6 24.8 35.5 33.4 26.4 6.9 3.7
6008+ 0] &t 100.0 27.2 2.4 24.8 34.9 33.8 26.1 7.7 4.1
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<2014>
a2 = 10.2 1.2 8.9 27.0 62.9 49.6 13.3

<2016>
a2 = 10.9 1.7 9.2 26.3 62.8 48.8 14.0
S AE =) 10.8 1.7 9.0 26.4 62.8 48.6 14.2
SVEIEEERD 1.4 1.5 9.9 26.1 62.5 49.4 3.1
g X 12.3 2.1 10.2 28.2 59.5 46.8 12.8
o X 9.5 1.3 8.2 24.6 65.9 50.7 15.2
13 ~ 194l 1.7 2.2 9.5 30.0 58.3 45.0 13.3
20 ~ 29I 13.2 2.6 10.5 28.9 57.9 44.6 13.4
30 ~ 394l 10.0 1.4 8.5 24.2 65.9 49.9 16.0
40 ~ 49 8.7 1.2 7.5 25.1 66.2 49.5 16.7
50 ~ 594l 9.9 1.3 8.6 24.2 65.9 51.7 14.2
60 Al 01 & 12.5 1.8 10.6 27.7 59.9 49.2 10.7
65 Al 01 & 12.9 1.8 1.2 28.9 58.2 477 10.5

< RUSSSE, YMS S RE>

<2014>
a2 = 7.6 0.8 6.7 24.4 68.1 478 20.3

<2016>
a2 = 8.6 1.3 7.3 26.1 65.3 46.1 19.2
S AE =) 8.4 1.3 7.1 25.9 65.7 46.0 19.8
SVEIEEERD 9.6 1.3 8.3 27.2 63.3 47.0 16.3
g X 10.0 1.6 8.4 28.0 62.0 451 17.0
o m 7.3 1.0 6.3 24.3 68.5 47.2 21.3
13 ~ 194l 0.1 2.1 7.9 30.3 59.6 41.0 18.6
20 ~ 29I 8.5 1.4 7.0 26.4 65.1 44.4 20.7
30 ~ 394l 7.1 1.0 6.1 23.2 69.7 45.9 23.8
40 ~ 49 6.9 0.9 6.0 24.7 68.4 46.9 21.5
50 ~ 59A 8.2 1.2 6.9 24.3 67.5 49.1 18.5
60 Al 01 & 11.0 1.4 9.7 29.1 59.8 46.5 13.4
65 Al 01 & 1.5 15 10.0 30.7 57.8 45.2 12.6
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<AL DINEBR e >
<2014>
8= 100.0 4.0 0.5 3.5 18.2 77.9 48.6 29.3
<2016>
8= 100.0 4.5 0.8 3.7 16.2 79.4 44.7 34.6
= NE = 100.0 4.3 0.8 3.5 15.6 80.1 44.1 36.0
s0E(8eR 100.0 5.6 0.7 4.9 18.8 75.6 47.8 27.8
o Xt 100.0 5.1 0.9 4.2 17.6 77.2 44.9 32.4
Rt 100.0 3.9 0.6 3.3 14.7 81.4 44.6 36.8
13 ~ 194l 100.0 6.9 1.4 5.5 22.4 70.8 44.9 25.9
20 ~ 29K 100.0 4.5 1.0 3.4 18.6 77.0 41.0 36.0
30 ~ 394 100.0 3.0 0.5 2.5 12.4 84.6 39.7 44.9
40 ~ 49Kl 100.0 3.6 0.5 3.1 14.5 81.8 43.6 38.2
50 ~ 59l 100.0 4.0 0.7 3.3 15.3 80.7 47.3 33.5
60 Al Of & 100.0 5.8 0.9 4.9 17.0 77.2 49.9 27.3
65 Al 01 & 100.0 6.2 0.9 5.3 17.7 76.1 50.0 26.1
<=9, BHSHHIZ AS >
<2014>
8= 100.0 8.0 1.0 7.1 37.1 54.8 42.7 12.2
<2016>
8= 100.0 9.4 1.4 8.0 36.2 54.4 41.4 13.1
= NE = 100.0 9.4 15 7.9 36.2 54.4 41.0 13.4
s0E(8eR 100.0 9.1 0.8 8.3 36.3 54.5 43.1 11.4
o Xt 100.0 10.9 1.8 9.1 38.5 50.6 39.1 11.6
Rt 100.0 7.9 1.0 6.9 34.0 58.1 43.6 14.5
13 ~ 194l 100.0 11.9 2.2 9.7 415 46.6 35.2 1.4
20 ~ 29K 100.0 1.5 1.9 9.7 40.9 47.6 35.9 1.7
30 ~ 394 100.0 8.3 1.2 7.1 35.0 56.7 42.4 14.3
40 ~ 49Kl 100.0 7.7 0.8 6.9 34.1 58.2 42.6 15.5
50 ~ 59l 100.0 8.4 1.4 7.0 32.6 59.1 45.0 14.1
60 Al Of & 100.0 10.0 1.4 8.7 36.6 53.4 42.6 10.7
65 Al 01 & 100.0 10.6 1.4 9.2 37.4 52.0 42.2 9.8
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<2014>
2 = 100.0 72.5 33.6 38.9 27.5 21.4 6.1

<2016>
3 = 100.0 71.9 33.6 38.2 28.1 21.7 6.4
T AE = 100.0 74.4 35.7 38.7 25.6 20.1 5.4
soE(geR 100.0 59.7 23.6 36.1 40.3 29.3 11.0
T 100.0 63.7 27.0 36.8 36.3 27.6 8.7
o n 100.0 79.8 40.1 39.7 20.2 6.1 4.1
g=xo 100.0 72.7 34.9 37.8 27.3 20.8 6.6
o0 W E 100.0 69.9 31.1 38.7 30.1 23.5 6.7
o e 100.0 77.3 39.8 37.5 22.7 17.7 5.0
13 ~ 194l 100.0 91.5 51.0 405 8.5 7.5 i1
20 ~ 294l 100.0 82.4 46.1 36.3 17.6 14.0 3.6
30 ~ 39A 100.0 60.2 24.2 36.0 39.8 30.1 9.6
40 ~ 49l 100.0 60.2 21.8 38.4 39.8 30.2 9.6
50 ~ 59 Al 100.0 66.7 28.0 38.6 33.3 25.9 7.4
60 Al O] & 100.0 80.2 40.2 40.0 19.8 15.6 4.3
65 Al Ol & 100.0 81.8 42.3 39.4 18.2 14.2 4.1

< WESE 22/5101 WEDHII >

<2014>
# = 100.0 90.5 475 43.0 9.5 8.7 0.8

<2016>
3 = 100.0 91.1 47.8 433 8.9 8.1 0.8
T AE = 100.0 91.9 49.4 42.5 8.1 7.4 0.7
soE(geR 100.0 87.0 39.9 47.2 13.0 1.7 1.3
T 100.0 87.0 39.5 47.4 13.0 11.8 .2
o n 100.0 95.1 55.9 39.3 4.9 45 0.4
g=xo 100.0 88.1 40.3 47.8 11.9 10.8 i1
o0 W E 100.0 93.2 52.4 40.8 6.8 6.2 0.6
o e 100.0 89.8 46.6 43.1 10.2 9.3 .0
13 ~ 194l 100.0 85.6 37.1 48.5 14.4 13.3 i1
20 ~ 294l 100.0 87.7 39.2 48.5 12.3 11.0 1.3
30 ~ 39A 100.0 92.1 48.4 437 7.9 7.2 0.7
40 ~ 49l 100.0 92.6 49.1 435 7.4 6.8 0.6
50 ~ 59 Al 100.0 92.4 52.4 40.0 7.6 7.0 0.5
60 Al O] & 100.0 92.5 52.5 40.0 7.5 6.7 0.8
65 Al Ol & 100.0 92.0 52.8 39.2 8.0 7.1 0.9
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<2014>
8 0= 100.0 83.4 33.8 49.7 16.6 15.6 .0

<2016>
8 0= 100.0 83.3 33.7 49.6 16.7 5.4 1.2
E AE = 100.0 83.7 33.8 49.8 16.3 5.2 1.2
solE(zeR 100.0 81.8 33.0 48.8 18.2 16.6 1.6
g 100.0 78.7 27.6 51.1 21.3 19.6 1.7
o w 100.0 87.8 39.6 48.2 12.2 1.4 0.8
o=z 100.0 83.3 34.6 48.6 16.7 5.3 1.5
o T e 100.0 83.5 32.7 50.8 16.5 5.5 R
o e 100.0 82.9 35.3 47.6 17.1 15.7 1.4
13 ~ 194 100.0 69.6 20.6 49.0 30.4 28.3 2.1
20 ~ 29 100.0 72.1 23.9 48.3 27.9 25.8 2.1
30 ~ 394 100.0 81.6 26.3 55.3 18.4 17.4 1
40 ~ 49 A 100.0 86.3 31.5 54.8 13.7 12.9 0.9
50 ~ 594 100.0 88.9 39.5 49.4 1.1 10.2 0.9
60 Al 0l & 100.0 90.7 48.5 42.2 9.3 8.3 .0
65 M 0l & 100.0 90.5 50.2 40.3 9.5 8.5 R

<BEMH ME 007 >

<2014>
@ = 100.0 65.9 17.4 48.5 34.1 31.3 2.8

<2016>
® = 100.0 65.0 175 47.5 35.0 315 3.5
c AE = 100.0 65.4 17.5 47.9 34.6 31.1 3.5
solE(zeR 100.0 63.2 17.6 45.6 36.8 33.4 3.5
g 100.0 57.9 13.3 44.5 42.1 37.4 4.7
o w 100.0 72.0 21.6 50.4 28.0 25.7 2.3
o=z 100.0 63.9 8.1 45.8 36.1 32.3 3.8
o T e 100.0 65.9 6.9 49.0 34.1 31.1 2.9
o e 100.0 64.2 18.5 45.7 35.8 31.1 4.7
13 ~ 194 100.0 53.1 1.5 41.6 46.9 40.9 6.0
20 ~ 29 100.0 49.2 10.5 38.6 50.8 44.7 6.1
30 ~ 394 100.0 59.8 13.9 46.0 40.2 36.6 3.6
40 ~ 49 A 100.0 67.8 5.0 52.8 32.2 29.6 2.6
50 ~ 594 100.0 73.1 20.6 52.4 26.9 24.7 2.3
60 Al 0l & 100.0 75.6 27.2 48.4 24.4 22.0 2.4
65 M 0l & 100.0 74.8 27.7 47.1 25.2 22.8 2.4
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<2014>
& - 100.0 69.8 20.3 49.5 30.2 27.5 2.7

<2016>
& = 100.0 71.4 22.8 48.7 28.6 25.7 2.9
= AE % 100.0 72.1 23.0 49.0 27.9 25.2 2.8
=0 E(S0E 100.0 68.4 21.5 46.9 31.6 28.3 3.3
ot Xt 100.0 64.0 16.5 475 36.0 32.1 3.9
04 T 100.0 78.7 28.9 49.8 21.3 19.4 1.9
o= o 100.0 68.7 22.5 46.1 31.3 27.9 3.4
O I £ 100.0 73.3 22.5 50.8 26.7 24.4 2.3
| Et 100.0 70.7 24.4 46.3 29.3 25.6 3.7
13 ~ 194 100.0 63.2 17.1 46.1 36.8 32.8 4.0
20 ~ 29A| 100.0 58.9 14.3 44.5 41.1 35.9 5.2
30 ~ 39A| 100.0 67.2 16.9 50.3 32.8 29.4 3.4
40 ~ 494 100.0 74.0 21.0 53.0 26.0 23.9 2.1
50 ~ 59A| 100.0 77.4 26.9 50.5 22.6 20.8 1.8
60 AI Of & 100.0 79.5 33.5 46.0 20.5 18.6 1.9
65 Al 0l & 100.0 79.0 33.7 45.4 21.0 19.0 2.0

<NOIES Y BASH BE HO0I5D] >

<2014>
kS - 100.0 40.8 9.0 31.7 59.2 41.9 17.3

<2016>
& 2 100.0 33.3 7.1 26.2 66.7 42.9 23.8
= AE = 100.0 33.7 7.0 26.7 66.3 43.3 22.9
=0 E(S0E 100.0 31.4 7.7 23.7 68.6 40.6 28.0
ot Xt 100.0 33.3 6.6 26.7 66.7 42.9 23.8
04 T 100.0 33.3 7.6 25.7 66.7 42.9 23.8
o= o 100.0 30.5 7.1 23.4 69.5 40.3 29.3
O I £ 100.0 35.7 7.3 28.3 64.3 448 19.5
| Et 100.0 30.8 6.3 24.5 69.2 41.4 27.8
13 ~ 194 100.0 42.3 10.0 32.2 57.7 413 16.5
20 ~ 29A| 100.0 28.0 55 22.5 72.0 45.2 26.8
30 ~ 39A| 100.0 29.4 49 24.4 70.6 47.8 22.8
40 ~ 494 100.0 34.7 6.1 28.6 65.3 45.0 20.3
50 ~ 59A 100.0 37.5 8.1 29.4 62.5 41.2 21.3
60 AI Of & 100.0 31.6 8.7 22.9 68.4 37.6 30.8
65 Al 0l & 100.0 28.8 8.4 20.5 71.2 37.6 33.5

- 125 -



(4210 %)
) [N
A =58 o < o 2 o OPEQ g 2 ® o
< HSHHMERY AR5 >V
<2016>
| = 100.0 50.5 12.0 38.5 49.5 39.3 10.2
T AE B 100.0 52.1 12.3 39.8 47.9 38.5 9.4
SHE(SHER) 100.0 43.0 10.6 32.4 57.0 42 .9 14.2
= N 100.0 46.7 10.2 36.5 53.3 41.6 11.7
0;] N 100.0 54.2 13.7 40.5 45.8 37.0 8.8
o= = 100.0 44 3 10.6 33.7 55.7 41.3 14.4
o o E 100.0 54.6 12.8 41.8 45.4 37.9 7.4
J| E} 100.0 48.6 12.0 36.6 51.4 39.9 11.5
13 ~ 19All 100.0 46.0 10.5 35.5 54.0 42.7 11.3
20 ~ 29A 100.0 40.9 8.4 32.5 591 45.9 13.1
30 ~ 39All 100.0 50.5 10.9 39.6 49.5 41.3 8.2
40 ~ 49A 100.0 56.2 11.6 44 .6 43.8 36.4 7.4
50 ~ 59A 100.0 56.6 14.5 42 1 43.4 34.8 8.6
60 Ml O] &t 100.0 48.8 14.0 34.7 51.2 38.0 13.2
65 Ml 0| &t 100.0 45.6 13.3 32.3 54.4 40.0 14.5
<2 HAEI(LXY AR S) >
<2016>

S| = 100.0 73.1 22.8 50.3 26.9 23.6 3.3
T A(E B) 100.0 72.6 22.4 50.2 27.4 24 1 3.3
SHE(S8HS) 100.0 75.5 24.9 50.6 24.5 21.6 2.9
= N 100.0 68.8 17.8 511 31.2 27 1 4.0
0] N 100.0 77.2 27.8 49.5 22.8 20.2 2.5
S =sF=d 100.0 76.1 26.3 49.7 23.9 21.0 2.9
o m E 100.0 71.7 20.6 51.2 28.3 24.9 3.4
pl Et 100.0 71.9 23.9 48.0 28.1 24.6 3.5
13 ~ 19Kl 100.0 65.7 16.0 49.7 34.3 30.4 3.9
20 ~ 29Al 100.0 58.2 12.7 45.5 41.8 34.3 7.4
30 ~ 39Kl 100.0 64.1 14.4 49.7 35.9 31.3 4.5
40 ~ 49A 100.0 73.2 17.4 55.8 26.8 24.5 2.3
50 ~ 59Kl 100.0 79.5 26.3 53.2 20.5 18.7 1.8
60 Al O &t 100.0 87.7 40.8 46.9 12.3 11.1 1.2
65 Nl 0] &t 100.0 88.8 44 .3 44 .5 11.2 10.2 1.0
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<2016>

8 = 100.0 79.4 28.5 50.8 20.6 18.2 25
E ANE = 100.0 79.2 28.5 50.6 20.8 18.4 2.4
soE(geR 100.0 80.3 28.5 51.7 19.7 17.1 2.6
T 100.0 74.8 22.8 52.0 25.2 22.0 3.1
o X 100.0 83.8 34.1 49.7 6.2 14.4 1.8
o=zxg 100.0 79.8 29.3 50.5 20.2 17.7 25
o0 T E 100.0 79.3 27.7 51.6 20.7 18.2 2.5
ST 100.0 78.8 30.2 48.7 21.2 18.9 2.3
13 ~ 194 100.0 71.0 20.6 50.5 29.0 25.6 3.4
20 ~ 29l 100.0 70.0 19.8 50.3 30.0 25.7 4.3
30 ~ 39A 100.0 76.9 24.3 52.6 23.1 20.4 2.7
40 ~ 49 A 100.0 81.0 25.1 55.8 19.0 17.1 2.0
50 ~ 594l 100.0 82.5 31.6 50.9 17.5 5.7 1.8
60 Al 0f & 100.0 87.0 41.4 45.6 13.0 1.3 1.7
65 Al 0l &t 100.0 87.4 43.5 43.9 12.6 10.8 1.7

= 1) 2016E 01 MM FIt
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<2014>
@ = 100.0 36.8 8.1 28.7 39.9 23.4 17.9 5.5
<2016>

@ = 100.0 36.2 8.1 28.1 40.1 23.7 18.0 5.8
= A W) 100.0 36.1 8.0 28.1 40.2 23.8 18.0 5.8
SVEICEE) 100.0 36.7 8.8 27.9 39.8 23.5 18.0 5.6
S 100.0 37.0 8.6 28.4 38.7 24.3 17.6 6.7
of it 100.0 35.4 7.6 27.7 41.4 23.2 18.4 4.8
oS 100.0 34.0 7.8 26.1 40.6 25.4 19.4 6.0
o I € 100.0 38.3 8.4 29.9 39.6 22.0 16.7 5.3
] Ef 100.0 33.2 7.7 25.5 40.5 26.3 19.4 6.9
13 ~ 194 100.0 34.5 7.4 27.1 45.7 19.8 14.5 5.3
20 ~ 29K 100.0 32.6 6.9 25.7 41.6 25.8 18.4 7.5
30 ~ 39Kl 100.0 33.0 7.5 25.5 39.7 27.3 19.8 7.6
40 ~ 49K 100.0 36.4 7.7 28.6 40.1 23.5 18.0 5.5
50 ~ 59K 100.0 40.0 8.8 31.2 38.3 21.6 17.7 4.0
60 Al 01 & 100.0 38.4 9.5 28.9 38.5 23.1 17.9 5.1
65 Al 0l & 100.0 37.8 9.4 28.4 38.6 23.6 18.3 5.4
= 5 0l 3 100.0 33.4 7.8 25.6 41.7 24.8 18.6 6.2
5 B 100.0 35.9 7.4 28.5 41.9 22.2 17.4 4.9
2 = 100.0 33.4 7.8 25.6 41.2 25.3 19.1 6.2
oZ ol 100.0 40.3 8.8 31.5 37.6 22.1 16.7 5.4
I ] 100.0 42.2 8.5 33.7 36.0 21.8 16.6 5.2
A 100.0 38.8 8.8 29.9 37.4 23.8 18.3 5.5
K Bl A8 0f 100.0 35.0 8.0 26.9 40.5 24.5 18.9 5.6
= o ¢ 100.0 38.0 10.0 28.0 38.2 23.9 19.3 4.6
s 100.0 34.2 7.7 26.5 39.9 25.9 19.6 6.3

R BYR AS
1000+8! O/gt 100.0 33.7 8.6 25.0 40.3 26.0 19.4 6.6
100 ~ 200842 0t 100.0 34.4 7.3 27.1 41.9 23.7 18.3 5.4
200 ~ 3009+ 0/8t 100.0 33.5 7.8 25.7 40.5 25.9 19.0 6.9
300 ~ 4008t 0]t 100.0 34.3 6.6 27.6 41.1 24.6 19.1 5.5
400 ~ 5002t 0]t 100.0 37.7 8.6 29.1 39.2 23.0 17.7 5.3
500 ~ 6002t 0]t 100.0 39.6 8.4 31.3 40.2 20.2 15.3 4.9
6002+ 2! 0] 4 100.0 45.6 10.9 34.8 35.3 19.1 14.2 4.8
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1)
37. L& &M S2(19M °1Y)
(&1 %)
. w25 K
2 =aE 2 x> | w g | 2=
<3EY, SHS &K Y >

<2016>
a2 100.0 93.2 45.0 481 6.8 6.2 0.6
E NE ) 100.0 93.5 45.2 48.3 6.5 6.0 0.6
SEICEEE) 100.0 91.9 44.4 476 8.1 7.3 0.8
S X 100.0 92.7 44.4 48.3 7.3 6.5 0.7
o X 100.0 94.1 46.4 477 5.9 5.6 0.3
19~ 29 Al 100.0 91.7 452 46.4 8.3 7.6 0.7
30 ~ 39H 100.0 91.5 405 51.0 8.5 7.7 0.8
40 ~ 49H 100.0 93.3 44.4 48.9 6.7 6.1 0.6
50 ~ 59 100.0 94.0 46.8 472 6.0 5.6 0.5
60 A Ol & 100.0 95.2 50.8 44.4 48 43 0.5
65 M 0Ol &t 100.0 96.1 55.5 40.6 3.9 3.6 0.4

<BZ =¥ KX >

<2016>
2 = 100.0 91.3 38.7 52.5 8.7 8.2 0.5
E AE ) 100.0 91.6 38.9 52.7 8.4 7.9 0.5
SR 100.0 89.8 38.1 51.8 10.2 9.3 0.8
o X 100.0 90.2 36.7 53.5 9.8 9.1 0.6
o X 100.0 93.6 43.2 50.4 6.4 6.1 0.3
19~ 29 Al 100.0 87.4 36.0 51.4 12.6 1.4 1.2
30 ~ 39H 100.0 89.0 34.7 54.4 1.0 10.3 0.7
40 ~ 49H 100.0 92.1 38.5 53.6 7.9 7.4 0.5
50 ~ 59 A 100.0 92.2 39.8 52.5 7.8 7.4 0.4
60 A Of &t 100.0 94.1 461 48.0 5.9 5.7 0.2
65 M Ol &t 100.0 95.1 52.1 43.0 4.9 47 0.2

<2 BIM 248 51| >

<2016>
8 = 100.0 92.6 438 48.7 7.4 6.9 0.6
c ANE B 100.0 93.0 44.3 48.7 7.0 6.5 0.5
SOEIEEED) 100.0 90.9 421 48.8 9.1 8.3 0.8
S X 100.0 92.0 422 49.8 8.0 7.4 0.7
o X 100.0 93.8 475 46.4 6.2 5.8 0.3
19~ 29 Al 100.0 90.7 41.9 48.8 9.3 8.8 0.5
30 ~ 39A 100.0 90.7 38.7 52.0 9.3 8.5 0.8
40 ~ 49H 100.0 93.4 43.6 49.8 6.6 6.1 0.5
50 ~ 59 100.0 93.5 45.9 47.6 6.5 6.0 0.5
60 M Of &t 100.0 93.6 50.9 2.7 6.4 6.1 0.4
65 M Ol & 100.0 94.7 55.3 39.4 5.3 4.9 0.3
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o = 1) A
37. X! =M S2H(19M] °o17) ' - HIS
1 %)
s
12 w2 o 5 sod s =
< EtOIO1 221 Moz AM2AotI| >
<2016>
H = 100.0 81.0 34.2 46.8 19.0 17.2 1.8
T ANEs = 100.0 81.1 34.1 47.0 18.9 17.3 1.6
SN CEE 100.0 80.5 34.4 46.1 19.5 17.1 2.4
- Xt 100.0 83.3 35.8 47.5 16.7 15.0 1.7
ol X 100.0 76.0 30.7 45.3 24.0 22.0 2.0
19 ~ 29 Al 100.0 70.8 29.1 41.7 29.2 25.5 3.6
30 ~ 39Al 100.0 78.4 29.7 48.8 21.6 19.1 2.5
40 ~ 49A 100.0 79.6 31.7 47.9 20.4 18.9 1.5
50 ~ 59Al 100.0 85.1 38.4 46.7 14.9 14.0 0.9
60 Al Of & 100.0 87.5 42.8 44.7 12.5 11.1 1.4
65 Al Ol & 100.0 87.8 44.5 43.3 12.2 10.7 1.5
2 WRSHK Y2 & A >
<2016>
b = 100.0 81.2 32.3 48.9 18.8 17.3 1.4
= AE = 100.0 80.9 32.1 48.8 19.1 17.6 1.5
S CEEE 100.0 82.5 33.0 49.5 17.5 16.1 1.4
o Xt 100.0 80.8 32.2 48.6 19.2 17.7 1.6
ol Xt 100.0 82.2 32.4 49.8 17.8 16.6 1.2
19 ~ 29 Al 100.0 76.7 28.9 47.9 23.3 20.1 3.2
30 ~ 39Al 100.0 77.4 8.7 48.6 226 20.9 1.8
40 ~ 49A 100.0 81.5 31.1 50.4 18.5 17.3 1.2
50 ~ 59Al 100.0 83.2 34.3 48.9 16.8 15.6 1.1
60 Al Ol & 100.0 86.6 39.3 47.3 13.4 12.5 0.9
65 Al Ol & 100.0 87.3 43.2 441 12.7 12.1 0.6
1) 201620l MS =l
2) HEXE SE et A





